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1.

Sol.

Sol.

frefafan § & s W B

ek AT e fafer
[1] Twarstt - TERR Y fgden 9@
THEIN TR
[2] et i
[3] AoetTy it - T B THRI 9
qfofe T
[4] 3R St - EUR YE HwH
[5] STaRa WA

[3]

Heel el S 1 9Y Hell Bl % o KA § gw
B 15 & (B9 1 THRE W geed Ul i
TERl) T faereret (sreW) H e @

el Aol e % Uy wa-fawd R 9N R
TrrAfafaa Tora™ & difia A 9§ data agm

o ¥ R TET T #7

AT TEATIH
[1] SR qud @ (FART)
[2] Tt rdie @i
[3] frr T Tl @l
[4] @fn @
[5] srgafa W

[2]

Uardt TWH & HWUE - T R @ g 3HE
3 Y@ FHABR Uved STETS St ol

A T (AT S i 9T ) & WU
Hifga @i 9 3 Y@ HeAhR- Fe TF (&
e FHR)

TRUAT TT- & W 9= STelt @i & 3T TE
FAHR (a) HHEA SRM (b) JeH S M () T
R T (d) SHR T el

TR T & dhiferE wEaw (GI) ¥ O

Helferd qel § W ST HEYRIA wr FIC?

A. GI 31 = &R & 39 FauH IR el
R fauwm (DPIT) & sffd =% feed GI
T & g o wmar 21

B. /@ & # § W 5w wea wma 21
TEIHAST ! T H GI & W @)

C. MUgN i TUaE whel, SN Fes, ITAR i
HHNR, SRR HT W Hell 9 shEd
HYEER w1 3T 2023 § GI o7 9 gaTl 2

D. Hriiferer Hehd® 1 gsie 10 99 & fow 7=
Bl B

Identify the incorrect pair out of the following?
Lok Devta Fair Tithi

[1] Ramdeviji - Bhadrapada Shukla
Dwitiya to Ekadashi
Chaitra Amavasya

From Chaitra
Krishna Ekadashi
to the full moon

Bhadrapada Shukla
Saptami

[5] Question not attempted

[2] Pabuji -
[3] Mallinath ji -

[4] Devnarayan ji -

. 3]

Mallinath ji's animal fair starts from the next day
of Holi and is held for 15 days (from Chaitra
Krishna Ekadashi to Shukla Paksha Ekadashi) in
Tilwara (Barmer).

Here animals of Malani breed are bought and sold.
Which of the following are odd pairs of facts
related to the Sangeet Gharanas of Rajasthan?

Gharana Founder
[1] Jaipur Bhupat Khan (Manrang)
[2] Mewati Mantaul Khan
[3] Kirana Bande Ali Khan
[4] Senia Surat Sen

[5] Question not attempted

Sol.[2]

Founder of Mewati Gharana - Ghagghe Nazir
Khan. Its other prominent artist was Pandit
Jasraj ji.

Founder of Atrauli Gharana (branch of Jaipur

Gharana) - Sahib Khan and other prominent

artists - Mantol Khan (Rulane wale fakir)

Founder of Kirana Gharana- Bande Ali Khan

and other prominent artist 1. Bhimsen Joshi 2.

Roshan Ara Begum 3. Gangu Bai Hangal 4.

Ustad Rajjab Ali.

Choose the incorrect statements from the facts

related to the Geographical Indicator (GI) of

Rajasthani Handicrafts?

A. The GI tag is given by the Chennai-based
GI Registry under the Department for
Promotion of Industry and Internal Trade
(DPIIT) of the Central govt.

B. Including 5 recently added handicraft a
total of 21 handicrafts have received the
GI-Tag in Rajasthan.

C. Pichhwai art of Nathdwara, Jodhpuri
Bandhej, Koftgiri of Udaipur, Usta art of
Bikaner and Bikaneri embroidery have
received GI-Tag in August 2023.

D. The registration of Geographical Indicator
is valid for 10 years.
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Sol.

Sol.

[3](ii) (iv) (i) (iii) (v)

[1]%aa Aa C
[3] %o AT B
[5] ergafe
[2]

Aiifersr Gehdeh o1 TRHE 39 AR & oy fma
S & foeeRt e fafime drifers gt &7 e €1
IRt faftre favma ud ufaser o st go e
% RO el 2l

A TR R Gl fafaae fava =R gwed
(WTO) & sifgeh wos1 sifusrl & omm geist
Teq3li (TRIPS-Trade Related Aspcets of Intel-
lectual Property Rights) ™ T % qed TR
ST 2

T T R I8 w@ owgell & difas guew
(dSfieRToT R wRemon) sifafrr (1999) % ded fwan
S #1 g8 stfufem fadst 2008 ¥ <N gem e
T 2004 F iR & Sf-omE 1 W w @
oA ARG 3R ol

[2] Swdea & @ &g e
[4]%aat B 9 D

T & H U 5 ekdeen Gl dfed Toee™ o

% 21 GI 31 9@ R
Frfafaa ¥ @ s/ | @0 ugente?
( Tomehen dreit-fomerr )
[1] QR Seft- wfesm
[2] SfepTR Vief- B EhgEHI
[3] eTeteR Feit- Fferrm|
[4] TGN Siefl- ST |
[5] ergafa 9
[4]
forore dei:- & @ foeR W -,
TerTSl, ARES TRTe=], a5Atds, HianM, g,
THAY, AW, oeiel <™ % T ¥qE ¢
Frafafaa w1 gafea smifse-
gy Ew
A. TR SR e 1. S T g@
B. ®fa oot e et
C. suww fafean ey faaEton
D. 3=/ #&an TA-9E T @
E
A

AN N

S S 0
A B C DE
[2] (i) () (v) (iv) (iii)

(i) (v) (iv) (i)
( [4] (iv) (v) (i) (i) (0)

[1] Only A and C [2] None of the above
[3] Only A and B [4] Only B and D
[5] Question not attempted

Sol.[2]

4.

Geographical Indicators are used for those
products which have a specific geographical
origin area. The distinctive features and
prestige of these products are also due to this
region of origin.

At the international level, GI is regulated
under the Agreement on Trade-Related
Aspects of Intellectual Property Rights (TRIPS)
of the World Trade Organization (WTO).

At the national level, this work is done under
the Geographical Indications of Goods
(Registration and Protection) Act (1999). This
act came into force from September 2003.

In 2004, Darjeeling Tea was the first Indian
product to get GI Tag.

Rajasthan has total 21 GI Tags including
recently five handicrafts GI Tag.

Identify the incorrect pair out of the
following?

(painting style-painter)

[1] Jaipur style- Sahibram.

[2] Bikaner style - Hamid Ruknuddin.
[3] Alwar style - Saligram.

[4] Nathdwara style - Badan Singh.
[5] Question not attempted

Sol.[4]

(1] (@) (i) (v) (iv) (ii)
[3](ii) (iv) (i) (iiD) (v)

Kishangarh style- The names of other
prominent painter Nanakram, Surdhwaj,
Mulraj, Mordhwaj Nihalchand, Badan Singh,
Sitaram,Ramnath, Sawairam, Laldi Das.

Match the following-
Book

A. Gaurishankar
Hirachand Ojha

B. Kavi Kallol

Writer
1. Rajiya Ra Duha

2. Ancient script

(Prachin
Lipimala)

C. Kriparam Khidia 3. Prabandh
Chitamani

D. Acharya 4. Dhola-Maru Ra

Merutang Duha

E. Muraridas 5. Jaswant Jaso

Bhushan

A B C D E A B C D E

[2] (1) (i) (v) (v) (
[4] (iv) (v) (i) (i) (

iii)

i)
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[5]3TaRa T

Sol. [3] Sol. [3]
Frafafaa gafem Ffe- 6. Match the following-
6 . = Institution Location
A & (i) A. Ra];;sthan Sahitya (i) Bikaner
academy
5 1T i) < B. Rajasthani Bhasha (ii) Jodhpur
. TS e, e if) SR Sahitya and
TS WA TR Sanskrit Academy
C. TSTEM S A (iii) SRR C. Rajasthani Braj Bhasha  (iii) Jaipur
STRTHT academy
D. TSI 9iid e (iv) STIR D. Rajasthan Sangeet (iv) Udaipur
STFEHY Natak academy
A B C D A B C D A B C D A B C D
[M1Gv) 6) @) G [21Gv) () (i) () [MIGv) ) @) @) 216v) 6 () )
B () Gi) i) Gv) [41GH) G) Gv) @) B G) Gi) Gi) Gv) 416D () (@) @)
[5] safa oo [5] Question not attempted
Sol. [2] Sol. [2]
7.o Fronforfa et = e T B S A 7. hl/-{atCh the 1following festivals according to
IR their month?
3 Festival Month
e HrE A. Ram Navmi (i) Vaishakh
A. TETEH! (i) B. Sankatharana/ (ii) Bhadrapada
B. Hereew/faar =geff (ii) “TETR Til Chaturthi
C. sfgen &t (i) = C. Amla Navmi (iii) Chaitra
. D. Akshaya Tritiya (iv) Kartik
D. 3 gt BN E. Satudi Teej (v) Magh
E. gt 9 (v) = A B CD E A B C DE
AB CDE - AB CDE 6 (v 6) i) (2] GG @ 6 )
[1]Gi) (v) (@v) (1) (D) [2] (i) (v) () G (v) [3](iii) (v) (iv) (i) (i) [4] (id) (iv) (i) (@) (v)

[3](ii) (v) (iv) (i) (i)

[4] (ii) Giv) (i)

[5]Question not attempted

[5]Question not attempted

[5]eTgaRa we
Sol. [3]
TSt o5 T R YRl U7 T W

Sol. [3]
Ram Navmi: - On the Shukla Paksha Navami
of Chaitra month
Sakantkaran/Til Chaturthi - Magh Krishna

Hehegtuy/faer wrqet:- = Hw we wgedt

AT Aql:- Fifdew TE i IEA q& hl o=
T AT~ SNE HE K YA Tl B gara il
WIGET deT:- RIS 18 i [T & T Gl il

Paksha Chaturthi

Amla Navmi - Navami of Shukla Paksha of

Kartik month.

Akshaya Tritiya - On the Tritiya of Shukla

Paksha of Vaishakh month.

T €I diS1/SEl S A el dis o ed 21 g
H oS dS B GOl GG 2

8. Tmafeafaa ¥ ¥ wFaET (YUTfcaeh e,/
weR ) I gAfera & €2 8
[1] =T - Bt & S| '
[2] fircfe - wefieiq 1 wffea
[3] THEA - FHU TSN Ak 9 AT & fan
[4] e - T 9 S H ol

Satudi Teej - On Tritiya of Krishna Paksha of
Bhadrapada month. It is also known as Badi
Teej/Budhi Teej or Kajali Teej. Bundi's Badi
Teej ride (sawari) is famous.

Which of the following (archeological site/
civilisational evidence) pair is not correctly matched?
[1] Kurada - Farming instruments

[2] Gilund - ivory bangles

[3] Rangmahal - coins of Kushan king Huvishka

O] 57
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Sol.

Sol.

10.

Sol.

11.

Sol.

[5] ergafe

[3]

HET T gk o AT & f9F e (RaR) o

ot gY § TRl U I (SR &) ol (P

F1) W g T

ik e ¥ o W H geHve S W w3

1 Y@t fafd &1 T ¥ 9 |/ s S TR e

=t gfd o g€ R

foreTe wqd % wWrY W W wEG/RGT @

Brfed?

A. T8 TSE & A TS HFARAE i ST

B. 399 9Rfa & fouamiem W R swwfa
AR ek feren

C. 394 oot o forarfers e ofa fergemn o

D. 389 G i TGN 61 9o F&] W dels 9
TeRTveR HeRd HiE 1 fmion e

[1]%aa Aa C [2] W |t
[3]%aat BT D [4]®aa A, BT C
[5] srgafd w

[2]
g W g ufew wr fmior e e w
HIETAT?

[1] SefiE [2] HERIOT e
[3] 5o W& [4] ToT &HR
[5] srgafd w

[*]

S | e HiX w1 i sfege 3 FH@m?

T &% WR W e we W e W s

HIT/HRIA R U

A. TR Wk § FHE A ‘uH g ufesar @
Sadr’ q ‘Ul U9 9N’ % HEH SEAR S
= Rl

B. IR foiik T & ST{UR ¥ A Al % 84
M H ¥ 32 Wi wEm

C. H= A T&ha 90 § Aged =g, o Af<H gfa
e el

[1]%aa A, BT C [2]%aad Ba C
[3]%ac Ad C [4] o B
[5] srgafd w

[3]
FIIG YO § P o ‘¥H wd ufosar #
IR’ T ‘HU TE AN T THE SEER SdrE T

Sol.

Sol.
10.

Sol.

11.

Sol.

and Vasudev
[4] Ozhiyana - terracotta of cow and bull
[5] Question not attempted
[3]
The coins of Kushan king Huvishk and Vasudev
have been found from Noh (Bharatpur). The
idol of Yaksha (Jakh Baba) (of Shunga period)
has been obtained from here.
Whereas from Rangmahal red colored
earthenware on which black colored lines have
been painted and the statue of Guru shishya
of Kushan period has been found.
Select the correct statements regarding
Vigraharaja IV?
A. He defeated the

Kumarapala of Gujarat.
B. He wrote a play named Harakeli based on
Bharavi’'s Kiratarjuniyam.
He got the Shivalik pillar inscription
written in Delhi.
He established Bisalpur and got the pond and
Gaukarneshwar Mahadev temple constructed
here.
[1] A and C only [2] All of the above
[3] B and D only [4] A, B and C only
[5] Question not attempted
[2]
Which ruler built the Varaha temple at Ahar?
[1] Jaitra Singh [2] Maharana Kumbha
[3] Bappa Rawal [4] Rana Hamir

[5] Question not attempted

[*]

Alhat got constructed the Varaha temple at Ahar.

Considering the following statements about

Kumbha, identify the incorrect statements.

A. In the Ranakpur eulogy, Kumbha has been
described as the ‘incarnation of religion
and purity” and a donor like ‘Karna and
Bhoj'.

B. According to the book Veer Vinod,

Kumbha constructed 32 out of 84 forts of

Mewar.

Kumbha wrote plays Atulya Chaturi, and

Nandini Vriti in Sanskrit language.

[1] A, B and C only [2] B and C only

[3] A and C only [4] B only

[5] Question not attempted

[3]

In the Kumbhalgarh eulogy, Kumbha has been

described as the ‘incarnation of religion and

purity’” and a donor equal to ‘Karna and Bhoj'.

Chalukya king

C.

D.

C.

Dramas written by Kumbha -
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12.

Sol.

13.

Sol.

14.

Sol.

i< gfa - AU AW

W Af= |
URETS & |El it STl § W e et
- 77

[1] Tt [2] TR

[3] geas [4] TReft

[5] STaRa WA

[4]

i. URATS & Am=l il uR SfurEt oft-

1. TSE 2. 9RR 3, fiAmEd 4. goasdt

ii. HET & WRNER & gfo § fawim a-
1. <eefi- <9 H # W A &

2. FSRA- TER & WY P 4O H T awedl

et # arqifera gm 7
Py TR
[1] TSe™ T &9 ] - HUfdE 9RES
e i 1857
[2] EfeAS & TSgaET - s AL fEE
[3] TRE-T- e - HCINH BRI

[4] Sfeom St ffF Sfeam - ==l AEER
i

[5] siFafa W

[1]

TOEIH I 37 § = % 1857 JWish & oieeh

W TS 2

Frafafea & | s Fwgy/wRal @ Bifeu?

[1] 9% 9f R o &t g Tl o 9o ToE T2
% oEd 9 ol ¥t 2

[2] TefeqsrRoll | §R HER SN d G
TqISTMET i TATT il

[3] FoTE USMUSH & WUH SAfeRH 1941 8 W
STHIEA 1. SERid T8E A fRar em

[4] SRERRY Il 7 STEgeEAl AR 9 AW HiTed
HI TAT HII

[5] eTgaf we

[3]

i. ST Wel 4 Jwie 1. W gfed 2. 9% g 3

TeF 1. o5 H{AR, 2. 757 W 3.9%6 a9 foa|

ii. SheeaTelel §g o Tl TR gR 9 1907 €.

¥ gdfedriiolt a1 (F&) gN A formemi 1. FaR

Treee, (el 79) 2. T wesen (aefRa) =9

T H TE

iii. HATE TSHUSA 1 YUH SAfeRT ¥ 1941% H

12.

Sol.

13.

Sol.

14.

Sol.

Atulya Chaturi - Sanskrit Language
Murari Sangeet - Kannada Language

Nandini Vriti - Marathi language

Ras Nandini - Mewari language.

Which of the following is not related to the

categories of feudal lords of Marwar?

[1] Rajvi [2] Sardar

[3] Mutsaddi [4] Hajurathi

[5] Question not attempted

[4]

i. There were four categories of feudal lords
of Marwar -

1. Rajvi 2. Sardar 3. Ginayat 4. Mutsaddi

ii. The Jagirdars of Kota were divided into
two categories.

1. Deshathi- Those who live and serve in the
country.

2. Hazurathi- Those who were in Mughal
service with the court.

Which of the following is a mismatched pair?

Book Author

[1] Rajasthan Role In - Kesarisingh Barhath
Struggle of 1857

[2] Mutinies in - Captain L.T.
Rajputana Prichard

[3] Tarikh-e-Rajasthan

[4] The Indian war of -
Independence

[5] Question not attempted

[1]

The author of the book Rajasthan Role in the

Struggle of 1857 is Nathuram Khadgawat.

Select the incorrect statements from the following?

[1] Arjun Lal Sethi is the author of Shudra
Mukti and Stree Mukti books and the play
Madan Parajay.

[2] Kabir Pathshala and Putri Pathshala were
established by SarvHitkarini Sabha.

[3] The first convention of Mewar Prajamandal
was inaugurated by Pandit Jawaharlal
Nehru in 1941.

[4] Harinarayan Sharma founded an
organization called Untouchability
Prevention Association.

[5] Question not attempted

[3]

i. Arjunlal Sethi wrote the books 1. Stri Mukti

2. Shudra Mukti and plays 1. Mahendra

Kumar, 2. Madan Parajay 3. Parshwa Yagya.

In the year 1907, two schools, 1. Kabir

Pathshala (Dalits) 2. Putri Pathshala (girls)

were established by Kanhaiyalal Dhundh and

Kaliram Kayastha
V.D. Savarkar
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15.

Sol.

16.

Sol.

17.

R T oFl i STEEEdl H geNll SLal. fuer

39 AT 1 3gERA fwRa

iv. 99 1946 3. SIfEe IRda < T @k IR0 &

74 AMEeH 1 TN SSAR & Falfedr HH W

T, TORR Al He® i TeANd H gl TEH IW

sTegeen 3 ot W fermm

v. TR JSHUSA & HETdh SRAREY M A 1.

STfcard |9 2. el §9 3. STOvEal HeR |9

AHE TS I TAA Fi

aRAr digee wer & ged ¥ Fefataa wet

W fee=m witT-

A. 30 99 H TOH 9 FHA 12 T&H 9|

B. 24 SFad, 1950 Hfaum @ &1 ifm Se off

C. Hfou™ 9 o %a 16 dfcen 9ee= faifed g
off|

Frafafaa ¥ & g gfaam & ded § wea

wHAT WEr &7

[1] %ot AR B [2] ®ad B3R C
[3] ®act AR C  [4] sW= weft
[5] TgaRa W=

[1] Sfoem |1 9 | 15 wfeen 9w faif=a g8

off|

Hiqa™ & IFER Wi Afed Gue @ gew el

o Hehal Afa-

A. A% 98 fasa foa € qen <m@em 3w swon
Al

B. 9 TGl TIY A A H T= ARV & qBd
Tt R e T R

C. % 38 Rarfemn siftm = f&an s 2

D. I o9& fuiftd g9 & 3t g @ w1 S
T A oEwe B S 2

Sudea H ¥ W wAT B-

[1] A B3R C [2] A 3R C
[3] A,B,C3R D [4] AR B
[5] st T

[2] F&F ATl CH WaaH HauE o € (37w
102) wEfh e B 3R D w1 Heiel W e
stfafam (1951) o 21
fFretferfian g @ gafem @i

A. et ofe a9 9Rd 99 9’ (2013)

B. % FHAR g M faer &9 =% (2017)
C. o fg s W @l TREw Ta 9] (2018)
D. FaM o= ar’ (2016)

1. W9 * fadeeia wifwat

15.

Sol.

16.

Sol.

Swami Gopal Das in Churu.

iii. The first session of Mewar Prajamandal was

held in 1941 under the chairmanship of

Manikya Lal Verma. ].B. Kriplani inaugurated

the session.

iv. In the year 1946, the 7th session of the All

India Native State People's Council was held

under the chairmanship of Pandit Jawahar Lal

Nehru at Saletia Ground in Udaipur, in which

Sheikh Abdullah also participated.

The founder of Alwar Prajamandal, Harinarayan

Sharma, established organizations named 1.

Tribal Association, 2. Valmiki Association, 3.

Untouchability Prevention Association.

With reference to the Constituent Assembly

of India, consider the following statements-

A. There were a total of 12 members from
Rajasthan in this meeting.

B. January 24, 1950 was the last meeting of
the Constituent Assembly.

C. A total of 16 women members were
elected in the Constituent Assembly.
Which of the following statements are correct

with respect to the Indian Constitution?
[1] A and B only [2] B and C only

[3] A and C only [4] All of the above
[5] Question not attempted

[1] A total of 15 women members were
elected in the Constituent Assembly.
According to the constitution, a person
cannot become a member of parliament if-

A. If he is of unsound mind and so declared

by the Court.

B. He has been convicted under an electoral
offense or corrupt practice at an election.

C. If he is declared insolvent.

D. If he fails to give the details of election

expenditure within the stipulated time.
The correct statement from the above is-
[1] A, Band C [2] A and C
[3] A, B,Cand D [4] A and B
[5] Question not attempted

[2] Statements A and C are mentioned in the
Constitution (Article 102) while statements B
and D are related to the Representation of the
People Act (1951).

Match the following pairs-

A. Lily Thomas Vs. Union of India Case (2013)

B. Krishna Kumar Singh Vs. State of Bihar
Case (2017)
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2. TR H STRE

3. TAE UR Hadt

4. AR ¥ waH

&<
A B C D A B C D

[1] (i) (iv) (i) (1) [2]Gv) (1) (@) (iD)

[3] (i) (i) (iv) (1) [4] () (i) (iv) (iD)

[5]eTgaia =T

[1]

A. foeft offg 9] g9@ guR & dee H Aeequl
] o 99 S.C. 7 ®a fF T MLA/MP
I & fw I S ® df SH = 2
Y HREE S STEm qen 9% 9ed i geedl
Tehlel JO1E | @ M ST 6t ST FAr B
% 9% 699 qh g TR g Hehdll

B. %91 HAR 9%~ I8 rearel ¥ Hefa ¢ foad
S.C. ¥ gl o TEARYN 1 TR JAN Higem
% Wiq HEr ® q"l elihdieh Gihast
e wEm 2l

C. SRe1 T ome- 3o Hey TR o SRe 9
g fe S.C. 9 wel T T @ SC/ST &
TevTshdl Tl 2l

D. oM o a- faaeedia e & day o
TI9TeA G0 Article 163 % @4 i T shiareat
i © A oF SIS % | ki W =Ey)

Frefafas ¥ @ FFE/A ST & dgd o

w1 IR TH Hifas AR 872

A. IT=R 14 B. =% 19

C. #g=x’ 21

[2] Faa C

[1] ®oa A 3R C
[4] Swdr et

[3] %o B @R C

[5] sTgaRa wd

[4] =mEfd K.S. g 39 9Rd 99 (2017) 9%
¥ S.C. 7 Tl fean fo foar &1 e1for
IR (14, 19, 21) & ded Hifesh ifrpr R

frfafea o @ SF@ T WA e ¥ Ud

oot qevr 97

Sol.

18.

Sol.

19.

B. frgm
D. ANeIvS

[2] A, B, D
[4] B, D, E

Sol.

18.

Sol.

19.

C. Jarnail Singh Vs Laxmi Narayan Gupta
Case (2018)

D. Nabam Rebia Case (2016)
1. Discretionary Powers of the Governor
2. Reservation in promotion
3. Election Reforms
4. Related to ordinances
Code:
A B C D A B C D

[1]Gi) (v) () (1) [2](v)

[3] (i) (iii) (iv) (i) [4] ()

[5] Question not attempted

[1]

A. Lily Thomas case was an important case
regarding electoral reforms in which S.C.
Said that if an MLA /MP is found guilty of
an offence, he will be given a minimum of
2 years imprisonment and will lose his
membership of house with immediate
effect. He/She cannot contest elections for
6 years after the expiry of that term.

(i) (iii) (ii)
(iii) (iv) (ii)

B. Krishna Kumar Case - It is related to
ordinances in which S.C. Said that the
continuous use of ordinances is a betrayal
of the constitution and an inappropriate
use of democratic processes.

C. Jarnail Singh case - It is related to reservation
in promotion in which S.C. Said that states
are not required to collect quantitative data
on backwardness of SC/ST.

D. Nabam Rebia Case - The actions taken by
the Governor under Article 163 in respect
of discretionary powers are limited and
should be done in good faith.

Right to privacy is a fundamental right under

which of the following articles?

A. Article 14 B. Article 19

C. Article 21

[1] A and C only [2] C only

[3] B and C only [4] All of the above

[5] Question not attempted

[4] In Justice K.S. Puttuswamy Vs Union of
India (2017) Case, S.C. ruled that the right to
privacy is a fundamental right under Articles
(14, 19, 21).

Which of the following states were union
territories before their formation ?

1. Himachal Pradesh 2. Tripura

3. Goa 4. Nagaland

Page 8 5. Assam



20.

Sol.

21.

Sol.

22,

. ferraet w_wr 1956 & wh HeRnfad WSS o qen
1971 9 9 TF 1 <= fean T

B. Tqu- =% +ft 1956 9 W UT o @en 1972 H 59
TH TF &1 S0 a1 T

C. Ma- 1961 ¥ Yf9 wEER! & ded afmfed

g3 q= 1962 ¥ UT I 3=, 1987 & W& ol

T T <A

1963 ¥ 3198 & T & T A Yereal i

TR AMTATS T&F &1 1A

A~ UES 9 & Uh o9 & ®9 § Fimferd o

FﬁT:FFI*JilT ® AWUfadl it drfeteRr & Ead o

frafafea wat w faem wifs-

A. g oo FEEl & ST7ER §8W | | 10 Fi
ey el & fou AHifhd et Bl

B. 31 H ¥ ®E ot T=Ay qu sweAd & U]

% INF A H Yo SUmh B TR 2

Sudea ¥ wE wew #?
[1] ®aa A [2] ®aa B
[3] =t [4] 7@ AT & B

[5] gt A

[4]

ARG ST | ! ARYN; Fed & W= § o

10 =1 |uafa e & faw amifed & @)

3T FHUA A Terd R

sTemy qel IMeAY H oTgurefa H 7w w§ R

TW H S O qfere H W HE U TEd

EE Y Hehdl 81 He B i e ®

freafafga § @ wFEr w9 aRdE d@iaae w5t

wefr fagwar @ gorar 27

[1] S=0 =™ 1 S<uaq =IEed & 37EHiE g

[2] s wfaue faw &5 w1 @l g S w
o 3

[3] wrwfeert &1 faefae & 9fd SR g

[4] T@a ARl

[5] TgaRa W=

[4]

%Y 1 Thishd eI i <9al € S TR

Tl TR 21

UM 2 Uhel GEOYM I S90d & S R TwrEed

fordtwar § wHeifuq 2

oM 3 GEEE YA e ¥ Hed 2

®UF 4 AT e S R e fawea @

fewm 21

Frfafea woat w faar FiftTe-

Sol.

20.

Sol.

21.

Sol.

[1] 1,3,5 2] 1,2, 4
3] 1,23 [4] 2,4, 5
[5] Question not attempted

[3]

A. Himachal Pradesh was a Union Territory

since 1956 and was given the status of a

State in 1971.

B. Tripura - It was also a UT since 1956 and
was given the status of a state in 1972.

C. Goa - Incorporated under police action in

1961 and UT status in 1962, a full state

status in 1987.

Formation of Nagaland state in 1963 by

joining the Swainsang region of Assam and

the Naga hills.

E. Assam - already incorporated as a state.

With reference to the panel of Speakers of the

Lok Sabha, consider the following statements-

1. The Lok Sabha nominates 10 of its members
to the Speaker's panel as per its rules.

2. Any of these can be the presiding officer
of the House during the vacancy of the
post of Speaker and Deputy Speaker.

Which of the above is the correct statement?

[1] A only [2] B only

[3] Both [4] Neither A nor B

[5] Question not attempted

[4]

The Speaker of the Lok Sabha nominates 10 of

the members of the House and not the Lok Sabha

to the panel. So the Statement A is incorrect.

In the absence of the Speaker and the Deputy

Speaker, not in case of vacancy, any member

from the panel can preside over the House.

The statement B is also incorrect

Which one of the following statements reflects

the federal feature of the Indian Constitution?

[1] Subordination of High Courts to the
Supreme Court.

[2] Indian constitution is not only for the
center but also for the states.

[3] Executive to be responsible to the
legislature.

[4] Independent Judiciary.

[5] Question not attempted

[4]

Statement 1 refers to the integrated judiciary

which is a unitary feature.

Statement 2 shows single constitution which

is related to unitary character.

Page 9



Sol.

23.

Sol.

24.

Hfaum H 39 9@ 1 weuT & . ¢ fE

TINSA T fade & TR R % fafei o

FE H, Tafh T & el H TH FHed

& B T

B. 424 wWfagw wIieR & @] T=U & fau
HEORTE 1 Helle @i aeAd qF Y & T
Vafh Tde & a9 § 30 W hl hlE STa
T 2

Sy H ¥ Wl w27

[1] ®aa A [2] ®aa B

[3] A 3R B =i [4] 7@ AT & B

[5] sTgaRa wd

[3]

Art 163 5 W € foh fememe= @@l & aweten

3 N hl HH h AU TS R EHA F

AJ arelt HEREE ¥ Welg ot BN Sefeh Tegufd

% Hed 4 wioum o UE HE edH T 21§

U A TE B

Hoe B ot WEl € it 424 Gaum "o ga

Hfqum 9 9% wEUE Siel T o whmitvg w5 9w

Tl & fou aregerl ® Sefh Todel % Eed |

UH T WEHH el 21 glats S.C.H v fafi=

W(Cases)ﬁqgwﬁ%ﬁumam

HRORTE & Hele aregsrl @ (Ex. 7aM o a5

2016)

T & Hifq Fever a=l & aed o Frafataa

wHA W faemr Hifa-

A. TR AU 5N 3R GOSERE!, et aen
IR Wdifge ot § fawem fopan = R

B. ¥ =M W@ M3k fafyes wema 1 3]R
difger fagla o wfwfoa e s 21

C. fhai fiew o] (1980) ¥ 3==an <Ee™ o 98

e ot foF aRdla wieum gor sl @ik

e awl % o= Oqer & &9 H )

Suded &gl B W fRaT wuw wd @72
[1] ®a T &wF  [2] Fad q HUH
[3] T e [4] #¢ +ft T

[5] sTgaRa wd
[*] o7 A o @ Fifh 9GRAE HiguE d wE
afiepo & R
%M B ft e § HifR Art. 39(A) et g
TAET gl <9 B
HeF CUel ¢ firell firew o ® S.C. 7 = «ff a1
o 7@ sifuer qen Hifq feees 7@ @ & W &
T ufed 2

I

22,

Sol.

23.

Sol.

Statement 3 is related to parliamentary system

of government.

Statement 4 is the independent judiciary which

is part of the federal feature.

Consider the following statements-

A. It has been envisaged in the Constitution
that the Governor should act in certain
situations on the basis of his discretion,
while such a concept was not envisaged
in the context of the President.

B. After the 42" Constitutional Amendment,
the advice of the Council of Ministers was
made mandatory for the President, while
there is no such provision in relation to
the Governor.

Which of the above is the correct statement?

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[3]

Art. 163 provides that the Governor must consult

the Council of Ministers headed by the Chief

Minister in order to perform functions other than

discretionary functions, whereas there is no such

provision in the Constitution with respect to the

President. Hence statement A is correct.

Statement B is also correct because by the 42nd

constitutional amendment, a provision was

added to the constitution that the advice of
the Council of Ministers is binding on the

President, while there is no such provision in

the context of the Governor. However S.C.

has stated in its various case that the advice

of council of Ministers is binding on Governor

(Ex. Nabam Rebiya Case 2016)

With reference to the Directive Principles of

State Policy, consider the following statements-

A. They have been divided into socialist,
Gandhian and liberal intellectuals etc. by
the Indian constitution.

B. Equaljustice and free legal aid are included
in the liberal intellectual principle.

C. In the Minerva Mills case (1980), the
Supreme Court held that the Indian
Constitution is in the form of a balance
between the Fundamental Rights and the
Directive Principles.

How many of the above statements are correct?

[1] Only one statement[2] Only two statement

[3] Three statement [4] None

[5] Question not attempted

[*] Statement A is incorrect as there is no such

classification in the Indian Constitution.

Statement B is also wrong because the

provisions relating to Article 39(A) reflect the

aRdra fratem emEm (ECI) & deof o
EiE

,;{‘ > Page 10

socialist principte:



Sol.

25.

Sol.

26.

HIT A 7

[1] Joa: 98 & & fem & ®9 # 7ifed
fopam TR e

[2] g&@ faf=a o & 3§ 4fd ¥ 9 3=
AR W B S Wkl § FNE YRR SweaH
=EAeE & R i

[3] Gfaam o frafe o & gsw &1 and fu
i &t = T

[4] Sfoym # Yanfgta & 9] far=m sTgai &
g@ﬂmm@ﬁﬁgﬁﬁﬁmwmﬁﬂi
|

[5] TgaRa W=

[4]

HUT A WE © s 1950 § 1989 @ ECI Th

weedt frmm o 1980 © 36! We w1+ 2 7

%o Bl ® it gea fafer e1ge #1 geasr

I A H YR R GO & I G g fawm

agHd W E e ST Hehdl 2

FHYd C ot We ¢ srEael § dad wiaum | g of

wEHH & 2

HUT D ol © iR Yargdl & I o

Fraff w IF T a2

Frafafaa Tt wr gafea wifg-

. 21 Hfaum wene

71t diaum denes

86al HaHM HIMEA

9gal dfgur Heted

i) mﬁmﬁm&ﬁ?ﬁ

A B C D
[1] Gi) (1) (iv) (iii)
[3] (i) (iv) (i) (iii)
[5] TgaRa W=

[3]

219 dfaum HetEa (1967) feu wief- foedt amm
i 8 AT | e T

7131 HeMe (1992)- P.V. TEw1 T (1991-1996)
ientit, AT & aTelt i 8a STIg=N | Sher Tl
86an wWigu WeEd (2002)- ofed fowwt Aot
(1998-2004) Art. 21(A) 3R 51(A)(k) SIe T
98 dfae™ wemed (2012)- wAHRA f68 (2004-
2014) ek T4 & T ®z form waum fh
|

wAT (A): wmﬁmﬂméuﬁreﬁwﬁ

A B C D
[2] (i) (iv) (i) (1)
[4](v) (i) (1) (i)

24.

Sol.

25.

Sol.

Statement C is correct, in the Minerva Mills

case, S.C. also said that Fundamental Rights

and Directive Principles are two wheels of the
same chariot.

Which statement is incorrect regarding the

Election Commission of India (ECI)?

[1] Originally it was constituted as a single
member body.

[2] The Chief Election Commissioner can be
removed in the same manner and on the same
grounds as the judges of the Supreme Court.

[3] The qualifications of the members of the
Election Commission have not been
prescribed in the constitution.

[4] The Constitution bars the Election
Commissioners from other appointments
by the government after their retirement.

[5] Question not attempted

[4]

Statement A is Correct because from 1950 to

1989 ECI was a single member body, since 1989

its member countis 1 + 2.

Statement B is correct because the Chief

Election Commissioner can be removed on the

ground of misbehavior or incapacity only by

a special majority by both the Houses of the

Parliament.

Statement C is also correct, there is no

provision in the constitution regarding

qualifications.

Statement D is incorrect as there is no bar on

other appointment after retirements.

Match the following pairs-

A. 21st Constitutional Amendment

B. 71st Constitutional Amendment

C. 86th Constitutional Amendment

D. 98th Constitutional Amendment

(i) Atal Bihari Vajpayee

(ii) Indira Gandhi

(iii) Manmohan Singh

(iv) P.V. Narasimha Rao

Code:

A B C D
(16 () Gv) (i) [2] (D)
[3] (i) (iv) () (i) [4](iv)
[5] Question not attempted
[3]

21 Constitutional Amendment (1967) Indira
Gandhi - Sindhi language was added to the
8th schedule.

71st Constitutional Amendment (1992) - P.V.
Narasimha Rao (1991-1996) Konkani, Manipuri
and Nepali was added to the 8th Schedule.
86th Constitutional Amendment (2002) - Atal
Bihari Vajpayee (1998-2004)- Articles 21(A)

A B C D

(iv) (i) ()
(i) (i) (i)

Page 11



Sol.

27.

Sol.

28.

Sol.

29.

Bl 2

HRUT (R): YR w@iaem &1 =] 163 Wi |
THEE Ve o 1 SuSY il @l
frafafaa o & wFEr weaT W@ 37

[1] ®eH A9 %R R @&t €, oifhd ®Ro R
HU A TE e TR

[2] oM A9 ®RO R EA W&l ®, wifh &R R
FU A F WE A R

[3] o YT A TEl ® q9 HeH R T 2
[4] o RO R G&l €, HeF A T @l

[5] s3afa wed

[2] 9ReTE Higem & =R 74, 75 %5 | a° 163
T 164 T § O A AR w1 399y
#W R

¥ GUSE W Sawe | sriufere faenfae &
Y SEE B 21 SE TR eleEw & ufd
FH5a HEARg 9 fagmeT & gfd T w5heRkg)

Frfafaa § & fora we @t wamoer 9w fagiar

(Peris Principle) & 3TER gﬁ 2

[1] = Faehdl STEM

[2] &= T STERT

[3] fifq e

[4] T AFETYHRR TR

[5] sTgafa WA

[4] 4R fagidl 1 Hey Arae @ €, e uie

¥ 1991 ® STUARN TR o el 1993 H WIE TR

TRTEN 5N ST fohan o 5= & STgEY 1993

% NHRC &l 9 &t Tl

W ok ® g off Weler At foRar S weRar

g afe-

A. 3 HeneA 59 aR | I e stfaw Fofa =@
o U R

B. o Guied i fadee fovim & wifa g H faema

% HRO e & ™
[1] ®aa A [2] ®aa B
[3] A @R B < [4] 7@ AT & B
[5] gt A
[3] BF oM T

1 wet T faem wifs-

A. TEY ¥TES TRIH ¥ SWRAE S o
el At 2

B. ot di. fifi wehum gufa € i ffeRiy faffaa
TR

C. e Hofta et THA Tgafd @ S dmae

26.

Sol.

27.

Sol.

28.

Sol.

29.

Page 12

and 51(A)(k) were added.

98th Constitutional Amendment (2012) -

Manmohan Singh (2004-2014) Some special

provisions were made for the state of Karnataka.

Assertion (A): The State Council of Ministers

is responsible to the Legislative Assembly.

Reason (R): Article 163 of the Indian

Constitution provides for parliamentary form

of government in the states.

Which of the following statement is correct?

[1] Both assertion A and Reason R are correct,
but reason R is not the correct explanation
of assertion A.

[2] Both assertion A and reason R are correct,
and reason R is the correct explanation of
assertion A.

[3] Only assertion A is correct and reason R is
incorrect.

[4] Only Reason R is correct and Assertion A
is incorrect.

[5] Question not attempted

[2] Article 74 & 75 of the Indian Constitution

provides for parliamentary governance in the

center and Article 163 and 164 in states.

In a parliamentary form of government,

the executive is responsible to the

legislature. As the Union Council of

Ministers is in relation to the Lok Sabha

and the State Council of Ministers is in

relation to the Legislative Assembly.

Which one of the following has been

established according to the Paris Principles?

[1] Central Vigilance Commission

[2] Central Information Commission

[3] NITI Aayog

[4] National Human Rights Commission

[5] Question not attempted

[4] Paris Principles are related to human rights,

which were adopted in Paris in 1991 and

ratified by the United Nations General

Assembly in 1993. According to these, in 1993,

the NHRC was established.

Any amendment can be made in the joint

meeting only if-

A. Those amendments about which both the
Houses have not been able to take a final
decision.

B. Those amendments which have become
necessary due to delay in passing the
particular bill.

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B
[5] Question not attempted

[3] Both statements are correct.
Consider the following statements-

Rajasthan to become the Vice President.



Sol.

30.

Sol.

31.

Sol.

32.

Sol.

Femg off w2
U HEAl § W WH HAT HN FET HifT-

[1] A #R B [2] B3R C
[3] et C [4] S @i
[5] sTgaRa W=
[3]
o ToRgE ¥ fFaifaa swreufa -
1. SifdE vramed
2. SRR gTEe

. o Tt tegt ARy faifa wees T Sel

Bl (1977-82)
o ol A R Fiom Hella T H R Tl
fraifed 8T (1969 - 74)
o oM ¥SE TS A IR AhEA T Bl
IV & T ATeRIUT & AR BShw a1 |
wftufera -
[1] =R, T afeH, @R
[2] STeTeR, BTG, STER
[3] e, MR, fEiE
[4] STER, dweft, AR
[5] A W
[*1
BShw &5-ot sfif, ¥R sfeH, MR w6 EmEre|
FIUT & ST TR FHI STHR-TALART, AIHH
Td 9l

Frafafaa o wFa 3w srafea §-
A. BHEE Y - @R

B. e\ Ty - TG
C. oM Y . Ul

D. Tt "R sty - H=ER
[1] AR C [2] A, B3R C
[3] o A [4] B 3R C
[5] eTgaft

[1]

BN AY - el - et T& (A P HEHE)
IS A - AR - SUFT T
frafafaa wat w faem wifs-

A. ToETel $el sigergr | feem @)

B. doierel WS UM Wi Eie 2l

e H W HE ®EAl Rl AT hiU-
[1] o A [2] o B

[3] A @R B <Al [4]7 @ AF & B
[5] ergafa W

[2]

30.

Sol.

31.

Sol.

32.

B. V. V. Giri is the only President who has
been elected unopposed.

C. Neelam Sanjiva Reddy is the only
President who has also been the Speaker
of the Lok Sabha.

Select the correct statement from the above
statements-

[1]Aand B [2] Band C

[3] C only [4] All of the above

[5] Question not attempted

[3]

* Elected Vice President from Rajasthan

1. Bhairon Singh Shekhawat

2. Jagdish Dhankhar

* Neelam Sanjiva Reddy is the only
President elected unopposed. (1977-82)

* V.V.Giri was elected President by defeating
Neelam Sanjiva Reddy. (1969 - 74)

* Neelam Sanjiva Reddy was the Speaker of
the Lok Sabha twice.

According to Koppen's climate classification,
the BShw part includes-

[1] Ajmer, Luni Basin, Shekhawati
[2] Alwar, Hanumangarh, Jalore
[3] Barmer, Nagaur, Sirohi

[4] Jalore, Pali, Nagaur

[5] Question not attempted

[*]

BShw Area-Luni Basin, Ghagghar Basin,
Nagaur and Shekhawati. Basis of Kdppen's
climate classification-vegetation, temperature
and rainfall.

Which of the following pairs are mismatched-

A. Hemawas Dam - Jalore

B. Jakham Dam - Pratapgarh
C. Ajan Dam - Karauli

D. Gandhi Sagar Dam - Mandsaur
[1] A and C [2] A, Band C

[3] A only [4] B and C

[5] Question not attempted

[1]
Hemawas Dam - Pali - Bandi River (tributary
of Luni)

Ajan Dam - Bharatpur - Banganga River
Consider the following statements-

A. Talwara Lake is situated in Banswara.
B. Talwara is a fresh water lake.

Select the correct statements-

[1] A only [2] B only

Page 13



33.

Sol.

34.

Sol.

35.

Sol.

36.

Sol.

37.

Torare S BT H fed T

frafafea wot w faem wifse- (AT

17e SRIUTT & STER )

A. TS | G ol el wioe 37.05% 2

B. oF & ¥ Halftush il Wik H g @ T

C. TogM ¥ e ifeifad a9 & 32863 o .
. 2

Sued § W W& N T I HitU-

[1] %o A 3R C [2] Fe= A

[3] ®o B [4] B3R C

[5] STaRa WA

[4]

oA § WX o w1 gfae 56.43% @1

Frefafea § ¥ o ®97 -

[1] 9RER SIRTA - I8 TSRIM hl FIH &
TR B

[3] Both A and B [4] Neither A nor B
[5] Question not attempted

Sol. [2]

Talwara Lake is situated in Hanumangarh.

Consider the following statements -

(According to the latest (17th) Forest Census)

A. The percentage of protected forests in
Rajasthan is 37.05%.

B. Maximum decrease in forest area was
recorded in Jalore.

C. The total recorded forest area in Rajasthan
is 32863 sq km.

Select the correct statements-

[1] A and C only [2] A only

[3] B only [4] B and C

[5] Question not attempted

.[4]

The percentage of protected forests in
Rajasthan is 56.43%.

[2] TESTR TR — el BT & A T 34, Which of the following is a correct statement?

o Y S 2

[3] TG ARG - T8l W WH, "EE @R
kel Al gerfed et 7

[4] STHEHTE SAFIRTY - 34 S 3eF & &9 H
forrflaa foran w21

{5}313?!1:{?[9'9?

2

o TSEIM I YUY S GRESE - W (1974)

o G, g SR kel ARAl 1 Y6 HorE i
Tl ARG (STAR) § T 2

o Sfoh IUE ® B9 Y TRl AWIRY - TR

(SER)
IEE | waitw 2 fra e ¥ @ S #2
[l]ﬁﬁé‘r [2]31311#1
[3] TSEE [4] 35T
[5] safd g

[3]

ity faegt Frifera o @ T gt o oig St
27

[1] 33oqR, foxet, seters

[2] w1, ST, Rt

[3] STAR, TG

[4] STAR, i

[5] STIaRa W

[4]

TF HY 99 g/ ToRA w OGIT R 14 90
e T B

frfafea ¥ ¥ fray gm @@ gafem 2/87

.I2]

[1] Sariska Sanctuary - This is the first tiger
project of Rajasthan.

[2] Talchhapar Sanctuary - Kurjan birds are
found here in large numbers.

[3] Kumbhalgarh Sanctuary - Som, Mansi and
Wakal rivers flow from here.

[4] Jamvaramgarh Sanctuary - It has been
developed as a biological park.

[5] Question not attempted

Rajasthan's first tiger project - Ranthambore

(1974)

¢ Som, Mansi and Wakal rivers flow from
Phulwari's Naal Sanctuary (Udaipur).

* Sanctuary developed as Biological Park -
Nahargarh (Jaipur)

In which district are the maximum number

of passes found in Aravalli?

[1] Sirohi [2] Ajmer

[3] Rajsamand [4] Udaipur

[5] Question not attempted

. I3]

Mountain soil is found in which of the
following regions?

[1] Udaipur, Sirohi, Jhalawar

[2] Kota, Jhalawar, Sirohi

[3] Udaipur, Pratapgarh

[4] Udaipur, Kota

Sol. [4]
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Sol.

38.

Sol.

39.

Sol.

40.

i ECAl
A. 30 i@ forra ==t
B. o R ESCEEC
C. TgHe g I T
D. 90 i Tt
[1] ot TH [2] ®a <
[3] waet o= [4] @sft gofera €
[5] gt w
[2]

U e Siem T R erafed
Tere&d aiEs o T W st R

Freafafaa gl = gafea wifa-
@i T &
A. A 3T (i) ftear
B. HHIS (i) HAKR
C. s (iii) ARRYT
D. &&= (iv) 1 hUE
A B C D A B C D
[1] i) () (3 @Gv) [2]1Gv) (@) () (i)
[3] (i) (iv) (i) (i) [4] (D) (1) @) (1iv)
[5]egara e
[4]
NIGEIEI - Sigare!
HARIR - H
A S -
Frefafeaa favmand fra wae =t &2

A. THH WER ® o ememe amEE 21°- 27° C
2l

B. 38 %Ua % fou 3ugw g1 @ fesr faedt
2l

C. 39 ®HA & IARA ¥ Hfiearer §a &1 gom
o 2

[1] it [2] Heem
[3] ™ [4] 7=
[5] sT3aRa e

[2]

YR i HEA & fow oo wt A 50-80 W
Traifta 81 Hoem Scaed § wE -

1. fiearer 2. g 3. SR

frefafeaa o @ forae w@ WReOT W TRERTTE
fafer o wftafea 8-

37.

Sol.

38.

Sol.

39.

Sol

40.

The soil of Rajasthan has been divided into 14
parts by the State Agriculture Department.

How many of the following pairs is/are
correctly matched?

River
Chenab River

Jhelum River

Project
1. Uri Project
2. Dulhasti Project
3. Rahughat Project Chambal River
4. Chamera Project Ravi River
[2] Only two
[4] All are correctly matched

[1] Only one
[3] Only three
[5] Question not attempted

[2]

The Uri project is situated on the Jhelum River.

The Dulhasti Project is situated on the Chenab
River.

Match the following-

Mineral Mining area
A. Iron ore (i) Lilwani
B. Manganese (ii) Saladipur
C. Pyrite (iii) Loharpura
D. Tungsten (iv) Nana Karab

A B C D A B C D
[1Gi0) Gi) ) Gv) [21Gv) () (i) (i)
B] () Gv) Gif) (i) [41GD) 6 ) @)
[5] Question not attempted
[4]
Loharpura - Bundi
Lilwani - Banswara
Saladipur - Sikar
Nana Karab - Pali
Which crop has the following characteristics?

A. The favorable temperature for its yield is
21°- 27° C.
B. The soil suitable for this crop is red clay.

C. Bhilwara district has the first place in the
production of this crop.

[1] Barley [2] Maize

[3] Cotton [4] Sugarcane

[5] Question not attempted

.I2]

Only 50-80 cm of rainfall is prescribed for maize
crop. Rank in maize production

1. Bhilwara 2. Chittorgarh 3. Udaipur

How many of these are included in
traditional method of water conservation-

A. Khadin B. Jhalra
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Sol.

41.

Sol.

42,

Sol.

43.

Sol.

44,

E. Sieg

&<

[1] St [2] Foa =R
[3] ®aa = [4] 39 @t
[5] ergafa W

[2]

ge-de R yorel emyfn S wRem fafy R
I foe ufEer &1 oW oA %
formr Y 9 &2

[1] ¥RE [2] ST
REEREE [4] TS
[5] eTgafa e

[3]

STGaTet HI T A -

1. AE SIS TR 2. wIE 2H

T Fw fGuuE s & WU w9 w T

[1] 1975 [2] 1970
[3] 1957 [4] 1974
[5] eTgafa e

[4]

1957 - it 9uswor 1

1970 - TSReM BT e fm

1975 - T4 9f4 gUR HUSA

2011 Tt SRTUTT ( TSR ) & STER Fefataa
FaH W faem wifae-

A. Taifih T SHEE w2

B. =giaH fema e frel & 2

C. 79 ¥ etk wedt fefmum 2 et o 2

SUE W W WE HAA T T HIT-
[1] B3R C [2] Fad A

[3] A, B3R C [4] A 3R B

[5] eTgaf

1

Elwﬁwwﬁuw@wﬁ%n

o YR 1 AT - 846 (FFaw feTTA)

o e () w1 TATHAE - 985 (Welifus Il
ISAIRRIGD)

C. Drip irrigation ~ D. Lake

E. Johad

Code:

[1] Only Three [2] Only Four

[3] Only Two [4] All of the above
[5] Question not attempted

.12]

Drip irrigation system is the modern water
conservation method.

. With which district of Rajasthan is the

Annas irrigation project related?
[1] Dungarpur [2] Jalore

[3] Banswara [4] Pratapgarh
[5] Question not attempted

-[3]

Other project of Banswara -
1. Mahi Bajaj Sagar 2. Kagdi Dam

. When was the State Agricultural Marketing

Board established?

[1] 1975 [2] 1970
[3] 1957 [4] 1974
[5] Question not attempted

-[4]

1957 - Agricultural Warehousing Corporation

1970 - Rajasthan Housing Board Corporation

1975 - State Land Reform Board

According to the 2011 census (Rajasthan),

consider the following statements-

A. Kota has maximum urban population.

B. Minimum sex ratio is in Dholpur district.

C. Tonk district has the highest urban sex ratio
in the state.

Select the correct statements-

[1] B and C [2] Only A

[3] A, Band C [4] A and B

[5] Question not attempted

-[1]

* Jaipur has maximum urban population.
* Sex ratio of Dholpur - 846 (Lowest sex
ratio)

* Sex ratio of Tonk (city) - 985 (Highest
Urban sex ratio)

fFrefafea § ¥ SF IR &6 & o & 44. Which of the following is not included in

o yfher & 8-
A. STRA e
B. St @ fmior

C. =S 1 PaH

D. U¥H 3R daq

WET RIS H TIT hi-
[1] A #R D

[2] %o B
[4] STk Gt

the Revenue expenditure of the Indian
Budget-

A. Grants allocated

B. Construction of waterways
C. Interest paid

D. Pensions and salaries

Select the correct code-

[1] A and D [2] B only
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Sol.

45.

Sol.

46.

Sol.

[5] STafa W
[2]

o SomrE @ fH giEEr @i & fawm @ Sol.

fewmn ? sufow @7 gofa =@ @1 fewm 2
fafr=r ot wfayfaat & deiar ¥ Feafatea wamt
W fa=m -

A. -foa Ao TER a9 § 2 e ™

qig i wel S B
B. 9 &R <Haifas Ho yfasfeal S w2l

HX Gehdl|
AT RIT/HIA R T -

[1] ®aa A [2] %o B

[3] A 3R B T [4] 7 A IR T & B

[5] sTgafa e

[3]

. 3 faw @ A-faw wRa weR gw o feg SOb
T A NN STl SR STl ol
ITH

o TEH &R FAgfd (G-Sec) H Sfew-q&
filce-uiia ST=ol & ®9 | W1 9l € it
o TR gR W fohT S & @IR sefay fewiee
1 IS G TEl el 2

» 9 fom &0 (SDL) <refentferen k01 gfasfaa
g S Pae TF TWHR 5 SHT TSt A6
TR T AR ITH! SR HiT BT G HA
fou S w1 St €1 " TR STeqeRiierR R0l
yfoafl SR & R geRdt B

qfgen AWE S| yEoT (MSSC, 2023) &

ey W Frafafea wat wfaem w-

A. TAUHUEH! & q&d i T& S TR W 7.5% Ffa
oY il R Y A e S i 9 9 e
ST

B. ¥ W & e@fy & o =Fa| € 1000 1R
100 & T | % 200,000 T T AR AT h
EIlET

I HIT/RAA HT TG HL-

[1] et A [2] ®o B
[3] A 3R B T [4] T A IR T & B
[5] TgaRa W

[3]

o IE TH DRI o= A 7, S SERER SR I
ST ahi § Sueed R

s MSSC ASH & d8d @l fohet Afgen g1 @&
71 foRdt Tafer dSHT Hi AR W AR g

45.

46.

[3] A, Cand D [4] All of the above

[5] Question not attempted

[2]

* The construction of waterways is part of
Infrastructure development hence it is a
part of Capital expenditure.

Consider the following statements regarding

various Debt securities-

A. T-bills are long-term government bonds
which are also called Gilt edge bonds.

B. State governments cannot issue long-term
debt securities.

Select the incorrect statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[3]

e Treasury bills or T-bills are money market

instruments and short-term debt

instruments issued by the Government of

India.

* A Government Security (G-Sec) is known
as a Risk-free gilt-edged instrument
because they are issued by the
government and hence there is no danger
of default.

e State Development Loans (SDLs) are long-
term debt securities issued solely by state
governments to support their activities
and meet their budgetary demands. State
governments cannot issue short-term debt
securities.

Consider the following statements regarding

Mahila Samman Savings Certificate (MSSC), 2023-

A. The deposit made under MSSC will give
interest at the rate of 7.5% per annum
which will be compounded quarterly.

B. A minimum of Rs. 1000 and any sum in
multiple of 100 may be deposited within
the maximum limit of Rs. 200,000 for a
tenure of two years.

Select the correct statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

Sol. [3]

e It is a small savings scheme, available in
Post Offices, and eligible Scheduled Banks.
* Opening an account under the MSSC
scheme can be made by a woman for
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47.

Sol.

48.

Sol.

49,

Wil S Hehal 2
fasita wuEYE goenies & HWew W Frafafaa
HIA W faem w-
A. T Fifq TR gR SR 99 2016 % WY SR
e T R
B. 3% 3 ®RF &, Tgd, ST R e
C. 0 I Haed ¢ T &g fod wmeeE =l 2
TWET HAT W HATT B

[1] A ¥R B [2] B &k C
[3] A ¥R C [4] A, B 3R C
[5] @1aRd e

[2]

. fod TR g e g 2021 § OO

Y% Y e ¥ S R S 21 HR
R = T 2

YETErITa & U9E & Heig ¥ Frefaiaa § @ &

| HIT T B

[1] SURHdie o THEH Bl €, Sefh RS
A9 B Bl

2] g% 1 %49 Wie w9 e S e

3] MR W HAENN 9g St 2l

4] HTHR 1 TOEHEE T S@dl 8l

5] eTaRa e

[1]

e ®UH T H R T 99 & 99 *A e d
FURTIA 1 JREH B € IR GEEhI
Y@ T G guEl oS < % 8 S 2

o2 M W e fafmior & fag sae

W T W A (PLI) & Weer § fAfatea

HIA W faem w-

A. T8 B SRt SR S WA % d'd
Th HEF &9 A 2

B. ISHI % Ted HeEdl STUR 96-2019 & &% 9=
auf wt oFafy & fAw ygE F ST

C. IS &1 T Aiedd Toidl & Weam | SrEitad
TeRe ST it T ARE Yeiue ot (fee)
% &9 H wE HaM

WE HAT T T B~

[1] A #R B [2] B 3R C

[3] A 3R C [4] A, B 3R C

[
[
[
[

47.

48.

Sol.

49.

herself or by the guardian on behalf of a
minor girl.
Consider the following statements regarding
Financial Inclusion Index-

A. Tt is released by Niti Aayog with the base

year 2016.

B. It has 3 factors i.e., Access, Usage, and
Quality.

C. 0 means no financial inclusion.

Select the correct statements-

[1] A and B [2] B and C

[3] Aand C [4] A, B and C

[5] Question not attempted

[2]

* Financial Inclusion Index is released by

RBI since 2021 in July every year. It has
no base year.

Which of the following statements regarding
the effects of Inflation is incorrect-

[1] Borrowers suffer losses, whereas Lenders
gains.

[2] Purchasing power of currency decreases.

[3] In general, black marketing increases.

[4] Government's fiscal deficit increases.

[

5] Question not attempted

[1]

e Lenders suffer losses as the value of
money given as a loan decrease and the

Effective interest rate decreases as an
effect of inflation.

Consider the following statements regarding
Production Linked Incentive Scheme (PLI)
for Large Scale Electronics Manufacturing-

A. It is a Central Sector Scheme under the

Union Ministry of Electronics and IT.

B. Support under the Scheme shall be
provided for a period of five years
subsequent to the base year-2019.

C. The Scheme will be implemented through
a Nodal Agency which shall act as a Project
Management Agency (PMA).

Select the correct statements-
[1] A and B [2] B and C
[3] Aand C [4] A, Band C
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Sol.

50.

Sol.

51.

Sol.

52,

Sol.

53.

Sol.

[5] Question not attempted
[4]

Frefafiaa o 9 w9 a1 fava wa=ar goranieh &1 50. Which of the following is not an indicator

[5] eTgafa T

[4]

ek @l 8-

[1] s [2] wme
[3] forem [4] S
[5] eTgafa T

[3]

o R gEh w AT & O BT TgE wRA B
I HE B - WHITE TEAN, I, e,
Todl, SIRAl R YRR h Srureefal

S favam (W T weies ) stfutem,

2023 & Heig ¥ Frefafiaa el w faem =-

A. Tad@es &1 S99 wA-"ed SR SR e o
A1 i F@en S )

B. 19 wawE/faumi gw wenfaa 42 wsE sify
i ® | 183 WEUMl Sl STIHE HLT hl
y=E R S @R

AT RIT/HIA R T -

[1] =eet A [2] ®o B
[3] A 3R B T [4] 7 A SR T & B
[5] TgaRa W

[4]

frafafea & @ feq et 7 @@ Hee W

e R < w5-

[1] fova s

[2] @M@ g ga deas (FSIN)

[3] @M@ G & faer® dftdw eas (GNAFC)

[4] B @R C =i

[5] sTgaRa WA

[4]

« TE Hhe W A RUE e 9 de wm
STHYET 1 HAHHa-3TeRa Jedihd W hid
% forg s after a2

s T WY GE g "edd (FSIN) iR @
Tohe & faeg dftes Weas (GNAFC) 3N
SR femen ST 2

o od 2022 H AR N a9 e W STgeEn H
39 I a1 Al i Te ¥ gfs gl

T @ 9 faeE - 3iae | (NMEO-OP)

&% oy ¥ Frafafaa wae W faem s

A. TE TH HEF & i Ao ¢ R 3299 Um
U & ST W HH B B

Sol.

51.

Sol.
52.

Sol.

53.

of the World Happiness Index-

[1] Income [2] Health

[3] Education [4] Freedom

[5] Question not attempted

[3]

e The ranking uses six key factors to
measure happiness — social support,
income, health, freedom, generosity, and
absence of corruption.

Consider the following statements regarding

Jan Vishwas (Amendment of Provisions)

Act, 2023-

A. The Bill aims to give a boost to ease of
living and ease of doing business.

B. A total of 183 provisions are being
proposed to be decriminalized in 42
Central Acts administered by 19
Ministries / Departments.

Select the incorrect statement/s-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not attempted

[4]

Which of the following organization

released the Global Report on Food Crisis-

[1] World Bank

[2] Food Security Information Network
(FSIN)

[3] Global Network against Food Crises
(GNAEC)

[4] Both B and C

[5] Question not attempted

[4]

¢ Global Report on Food Crisis is an annual
report to achieve a consensus-based
assessment of acute food insecurity in the
world.

e It is released by Food Security

Information Network (FSIN) and Global
Network against Food Crises (GNAFC).
* The number of people experiencing acute
food insecurity increased for the fourth
consecutive year in 2022
Consider the following statements regarding
National Mission on Edible Oils - Oil Palm
(NMEO-OP)-

B. A %R U B, HE & o5 AR FHIA A A. It is a central sector scheme that aims to
JeEE & U fodia e yem wt ST decrease palm oil imports.
B.—Financial-assistance will be provided for
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C. 39 A5 &1 HEFRE 2025-26 TF 2l
W RAT HT TG Hi-

[1] A 3R B [2] B &R C
3] A ¥R C [4] A, B 3k C
[5] egaRd wes

Sol.[2]

o TIUEESN-If Wh wx gEiftea A ® SR
T W T & T s 3R 59 TR &
d¥ 60:40 3R gERR T & faw 90:10 iR
Hhgunfad Y9 @ fTw 100% @ren @t S

54. TSRAM @& Hed ¥ wiEr g srghfeE &

[1] H&RaT =T - 66.1%

[2] & FeufiTn & - 43.66%
[3] femgua - 928

[4] A9 §F o - 97

[5] eTgafa wed

Sol. [4]

A 9 37U - TSEAE (113), 9Rd (97)

55. Frfafga &g W fa=m wifTe-

A. %4 T Hag a7 ¥ fer (2011-12) 9o W a9
2022-23 9 ¥ 2021-22 &t g H 5.22% i
s &

B. Hf MM 2015-16 % ATER TSEeE H gfh
Sl 1 SEd SRR 2.73 TR @l 2

C. &Y & &FaR ImeH | a9 2022-23 § Faifes
IANEH HHA & 1 @ R

D. 3% 2022-23 H @RI & FHA SARA 253.99
orE Hifew < B9 Wt G9e € S R 9.71
yfe g i <erar 2

Sue ¥ ¥ U e T T hiNU-
1] B,C, D [2] A B C

[3] 1,3, 4 [4] A, B, D

[5] TgaRa W

Sol. [4]

FH H AR AR A (46.41%), FEA & -
46.00%

56. TAfafaa o & wiFET HeA TR TE TR

PHOT VSR RS @HY & a) | 3/ 27

Sol.

54.

Sol.

55.

Sol.

pre-harvest, post-harvest, and efficient
water management.
C. The tenure of this scheme is up to 2025-26.
Select the correct statements-

[1] A and B [2] Band C
[3] Aand C [4] A, Band C
[5] Question not attempted

[2]

NMEO-OP is a Centrally Sponsored

Scheme and the cost will be shared as

60:40 between the Central and the State

Government for General states and 90:10

for NE states and 100% for UTs.

Which pair is mismatched with reference to

Rajasthan:

[1] Literacy rate - 66.1%

[2] Work participation rate - 43.66%

[3] Sex Ratio - 928

[4] Maternal Mortality Ratio - 97

[5] Question not attempted

[4]

Maternal Mortality Ratio - Rajasthan (113),

India (97)

Consider the following statements-

A. At constant (2011-12) prices in agriculture
and allied sector, there was an increase of
5.22% in the year 2022-23 as compared to
the year 2021-22.

B. According to the Agriculture Census 2015-
16, the average size of land holdings in
Rajasthan is 2.73 hectares.

C. Intheyear 2022-23, maximum contribution
has been made by the crop sector in the
Sector wise contribution of agriculture.

D. The total production of food grains is
expected to be 253.99 lakh metric tonnes
in the year 2022-23, which shows an
increase of 9.71 percent.

Select the correct statement from the above-

[1] B,C, D 2] A, B, C

[3] A,C D [4] A, B, D

[5] Question not attempted

[4]

Sector-wise contribution in agriculture-

livestock (46.41%), crop area - 46.00%

[1] TR ISR MRS Sffem, 2 wed 2006 F @0 56. Which of the following statements is incorrect

Sl

about the Mahatma Gandhi National Rural
Employment Guarantee Scheme?

[2] BT B WHE, S 6 999 TS aifde we
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A IR R SN 29 g1 w9 9 Afued 2
[3] SHH H&A 32T YA UM IRAR & FHA |
FH TH T w8 H wA ¥ FwA 100 T
gifeea IR @ s R
[4] 39 =9 9§ @Wifo< BF acll § ®H § ®H
50% wfeamd gt =)

[1] The National Employment Guarantee Act
came into force from 2nd February, 2006.

[2] Gram Sabha in MNREGA is mainly
authorized for selection of works and
preparation of annual work plan.

[3] Its main objective is to provide at least 100
days of assured employment in a year to
at least one member of every rural

[5] =13 KA household.
Sol. [*] ] [4] At least 50% of the beneficiaries of this
et § Afeemd - 33% scheme should be women.
TR ISR RS AT, 2wkt 2006 9 AR g3l [5] Question not attempted
57. 3iEifier Sared gerehier & an s s Sol. [*]
A §? Women among the beneficiaries - 33%
; The National Employment Guarantee Act
[1] st Sereq gawis & fiEa sefa & ploy
. came into force from 2nd February, 2006.
W T SER oY W SR SRl w Y
3 2 T 3 57. Which statement is false about the Index of
3‘" A ¢ ) el Industrial Production?
[2] wifem iR FEH FEEE WA F G [1] The Index of Industrial Production measures
TR AR YR R Gehe fRal S 2 short-term changes in the production volume
; : of industrial products over a selected base
[3] STeifTh e gawi®  HEen (mER o f industrial prod lected b
2011-12) 9 Te= T wen-fafmio, @ T year during a given period.
e Y ’ [2] It is compiled on a monthly basis by the
g. . ) Ministry of Statistics and Program
% B [3] The Index of Industrial Production series
[5] TaRa o (Base year 2011-12) is based on three broad
Sol. [4 groups viz. Manufacturing, Mining and
ol. [4] . Electricity.
58. TISTEL™ W 30 Towad, 2022 A%k WSl [4] Crude oil has the highest weightage
srfereaTiua graen m €i? among the eight core industries.
[1] 23580MW [2] 23487MW [5] Question not attempted
[3] 24506MW [4] 23334MW Sol. [4]
[5] e,r:ﬁrﬁ?r 99 58. What was the installed capacity of power in
Sol. [2] Rajasthan till November 30, 2022?
59. AW 0% Ok TSRIM @& IfrsTiua St [1] 23580MW [2] 23487MW
et feaet $7 [3] 24506MW [4] 23334MW
[3] 21315 MW [4] 24000 MW Sol. [2]
59. What is the installed energy capacity of
5 \?r'ljf‘lii?‘l RS
Sol {2} Rajasthan till November 2022?
ol.
60. T, 3. St g URASHT & Fia Aaw@r 2022 [1] 22512 MW [2] 23487 MW
T TR ¥ RRa U 3 @ e g W [3] 21315 MW [4] 24000 MW
FY [5] Question not attempted
[1] 11.84 o= [2] 50 @M@ Sol. [2]
[3] 13 =@ [4] 13.84 @@ 60. Under the L.E.D. Light Project, how many
ST L.E.D. Lights have been installed in
Sol E{ A Rajasthan till November 2022?
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61.

Sol.

62.

Sol.

63.

Sol.

64.

Sol.

65.

faamell |Yem gheAT ST G § |t §-

A. FEET A

B. Har afetsh fomer

C. |t T el & Hel 19 8Tk & forenef

D. ™ Wi &t forme

[1] A, B, C [2] A, B, D

[3] %@ C [4] 3w @t

[5] ergafa 5=

[1]

TR TR GRT & & | auie 2023-24

NYd TR M =AW T RO A W

waifoa & #-

[1] 38 dAREG ToaE & |+ 9Rarl @ 125
feag &1 ISR ufqad wem foRen SR

[2] 39 STd ggod, favm dmgeH, fawer wd
Tewel Afgel H Yfa|e 1000 9 61 4¥H i
TRUS qA THH 15 UaeId i T G gig
F YEYE B

[3] 35 Tl TSeM = o™ TRuS fages
2023 &1 T

[4] 39 FSHRRTG AT, FERa 9 el St
=l gferd 100 f& =1 fafied ISR 98= foman
S

[5] sTgaRa wd

[4]

RIS ufameices ufiEsm fraes grr

wufda 2

[1] T fawm % (ADB) 5N

[2] fawa <% gMI

[3] =fY foe & fau e ®W (IFAD) gNI

[4] ®AfeTd =R fosm o= (CIDA) BRI
[5] s1gafa wed

[2]

o & @R & uwrer fraramm & feag

AT W Uis Tefud el @t SEe?
[1] SR [2] SR

[3] SiergE [4] ST

[5] e3aRd wes

[3]

THMER TS Aedswh &l &, 45 Ht & ¥ d=ar
2 3T 4% 1w AT T T TE F 80
T @i o W UfHer dfem ot s & 3R 20%
T FHUYH Aia T €1 afg 9 wek fom | 10
reaeh 3R 6 Uit sied ST § o S8 3 9w
U feramT wHvE UTE grm?

Sol.
61.

Sol.
62.

Sol.
63.

Sol.
64.

Sol.
65.

[1] 11.84 Lakh [2] 50 Lakh

[3] 13 Lakh [4] 13.84 Lakh

[5] Question not attempted

[1]

Student Safety Accident Insurance Scheme
includes-

A. Kasturba School

B. Mewat Girls School

C. Students of classes 1 to 8 of all government

schools
4. State level private school
[1] A, B, C 2] A, B, D
[3] C only [4] All of the above

[5] Question not attempted

[1]

Which of the following is not associated with

“Mahatma Gandhi Minimum Income

Guarantee Scheme” recently announced by the

Rajasthan government in the budget 2023-24-

[1] Under this scheme, 125 days employment
will be provided every year to all the
families of Rajasthan.

[2] Under this, there will be provision for
guarantee of pension of Rs 1000 per month
to the elderly, specially abled, widow and
single women with an automatic increase
of 15 percent in it annually.

[3] The Rajasthan Minimum Income Guarantee
Bill 2023 was brought under this scheme.

[4] Under this scheme, Kathodi, Sahariya and
Khairwa tribes will be provided additional
employment of 100 days every year.

[5] Question not attempted

[4]

Rajasthan Agriculture Competitiveness

Project is supported by?

[1] Asian Development Bank (ADB).

[2] World Bank.

[3] International Fund for Agricultural
Development (IFAD).

[4] Canadian International Development
Agency (CIDA).

[5] Question not attempted

[2]

Where will a bench of the commission be

established for effective implementation of

Right to Information?

[1] Jaipur [2] Ajmer

[3] Jodhpur [4] Bikaner

[5] Question not attempted

[3]

Shopkeeper sells each notebook for Rs. 45

and earns a commission of 4%. He also sells
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Sol.

66.

Sol.

67.

Sol.

[1] &. 1496 [2] &. 1586
[3] & 159 [4] & 1956
[5] ST e

[3]

2 9«E § Aeged &I fawt ° W Ied

=% (45x10x14) =%. 6300
29w | ufaet s i fasht U Terd
=% (80 x 6 x 14) =&, 6720

=6300hT 4% +®. 67201 20%

=252 + 1344 = 1596

=fe 23,39, 32 31T 56 Wik W | x TSTAT =T, r
W A U U HEd SueuTdt gt €1 (x + 4)
3R (3x +1) & & WIET U R &7

[1] 10 [2] 14
[3] 12 [4] 15
[5] sT3aRa e

[3]

TR,

(23 - x) (56 - x) = (39 - x) (32 - x)

=23 x 56 - 23x - 56x + x2 =39 x 32 - 39x - 32x
+ x2

= 1288 - 1248 = 79x - 71x

= 8x =40

=x=5

I (x +4) I (Bx +1) & G T FEEI
=\/(x+4)(3x+1):\/9><16:3><4=12

TeH 3 Uge! & 96l & few 6% wfq o #f e W,
I A 6t & few 9% ufa o @ 9 W, i}
urer o | 3tk i srafy & fam 149% wfa ad
W W W HP o7 Sur foram afg ag - af &
3ia W A ®. 11,400 FHT ST FehMAT &, A& S0
TR e 3aw foar ar?

[1] & 13,500 [2] ®. 10,000
[3] &. 15,000 [4] ®. 12,000
[5] ST e

[4]
o SHR ot T Ul x ?1 f,

(xx6x2]+ x><9><3)+ x><l4><4j:11400
100 100 100

3x  27x
| —+—
25 100

14x

+— =
25) 11400

Sol.

66.

Sol.

67.

Sol.

pencil boxes at the rate of Rs 80 each and
earns a commission of 20%. If he sells 10
notebooks and 6 pencil boxes in a day, what
is the commission he will get in two weeks?

[1] Rs. 1496 [2] Rs. 1586

[3] Rs. 1596 [4] Rs. 1956

[5] Question not attempted

[3]

Revenue from sale of notebooks in 2 weeks
= Rs. (45 x 10 x 14) = Rs. 6300

Revenue from sale of pencil box in 2 weeks
= Rs. (80 x 6 x 14) = Rs. 6720

.. Net commission earned

= 4% of Rs 6300 + 20% of 6720

=252 + 1344 = 1596

If x is subtracted from each of 23, 39, 32 and
56, then the numbers obtained in this
sequence are proportional. What is the mean
ratio between (x + 4) and (3x + 1)?

[1] 10 [2] 14

[3] 12 [4] 15

[5] Question not attempted

[3]

According to Question,

(23 -x) (56 - x) = (39 - x) (32 - x)

=23 x 56 - 23x - 56x + x> =39 x 32 - 39x - 32x
+ x2

— 1288 - 1248 = 79x - 71x

=8x =40

=x=5

Now mean proportional between (x + 4) and
Bx+1)=

J(x+4)(3x+1) =4/9x16 =3x4 =12

Adam borrowed some money at the rate of
6% per annum for the first two years, at the
rate of 9% per annum for the next three years
and at the rate of 14% per annum for the
period beyond five years. If at the end of nine
years the total amount is Rs. 11,400 as
interest, how much money did he borrow?
[1] Rs. 13,500 [2] Rs. 10,000

[3] Rs. 15,000 [4] Rs. 12,000

[5] Question not attempted

[4]

Let the amount borrowed be x. Then,

XX6x2 N XxX9x3 N xx14x4 11400
100 100 100
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68.

Sol.

69.

Sol.

70.

95x 11400%100
2% 11400 o x= | —————
<100 =X ( 95 j

=12000
e, 3UR off T TRT =%, 12,000

® 12500 W 12% aTfier &¥ | 299 & faw
ehdleg & (%, W) W& §?

[1] 3000 [2] 2980
[3] 3050 [4] 3180
[5] ergmia weA
[4]
r t
A:P(1+—j
100
2
=12500(1+-§3)
100
2
=12500(2§J =12500><z§i
25 625

=20 x 784 = 15680

- EhalEg =S = 15680 - 12500 = 3180

afe weh Yo omaa @t werd 4 9t w0 w S
Tt & 3T wier 3 A et &t Wit €, 9 9
3 & TUT QA% G Ueh o Tl EHM 9ot
AT T URHIT A <hifsTT)

[1] 25 ==t [2] 100 St
[3] 50 @t [4] 60 Gt
[5] eTgaRa s

[3]

A AT x 3R y HO9T: Got Ed w1 AR SR

e 2

b, x-4=y+3AM x-y=7___ (i)

I <hl a'ﬂv_chxy;

o @ TR = (x - 4) (y +3) = xy

< 3x -4y =12___(ii)

(i) 3R (i) 1 TA HA R &5 x =16 3R y =9 W

7T 2

-, 3T o1 9T =2 (x +y) = [2(16+9)] F =50
ot

14% T g ¥ ¥ 11 faenfsai & w& ffee

#m fwaw affenl | SRR S EehRdt 87
[1] 364 [2] 154

(3] 1092 [4] 728

[5] eTgaft we

68.

Sol.

69.

Sol.

70.

(3x 27x  14x
o i

+— =
25 100 25 j 11400

95x (11400x100)

2% 11400 o 5 =
<100 =X 95

=12000
Therefore, amount borrowed = Rs. 12,000

Rs. What is the compound interest (in Rs.)
on 12500 at 12% per annum for 2 years?

[1] 3000 [2] 2980
[3] 3050 [4] 3180
[5] Question not attempted

[4]

t
A:P@+JLJ
100

2
=12500 l—i-£
100

2
= 12500(§j 784
25

=12500x —
625

=20 x 784 = 15680
Compound interest = 15680 - 12500 = 3180

If the length of a certain rectangle is reduced
by 4 cm and the width is increased by 3 cm,
then a square with the same area as the
original rectangle will be obtained. Find the
perimeter of the original rectangle.

[1] 25 cm [2] 100 cm

[3] 50 cm [4] 60 cm

[5] Question not attempted

[3]

Let x and y be the length and width of the
original rectangle respectively.

Then, x-4=y+3orx-y=7__ (i)

Area of rectangle = xy;

Area of square = (x - 4) (y + 3) = xy

(i)

Solving (i) and (ii), we get x =16 and y = 9.

& x-4y=12_

*. Perimeter of the rectangle = 2 (x +y) =
[2(16+9)] cm =50 cm

In how many ways can a cricket team of 11
players be formed from a group of 14?
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Sol.

71.

Sol.

72.

[1]
TR i TETIH & =
14x13x12
14C :l4C :l4C - =
11 (14-11) 3 3% 2x] 364 Sol.

9 U T WY Bk WA §1 S UiieRar & TR
I I W HEstt A wH ¥ W 6 7?2

=N 1 71.
11703 215

103 17
B To8 4173
[5] stgaRa W
[3]
sTuferd Wk =1 - (3M 6§ H)
69 w1 AN H A T 3,4, 5
A 3= (1, 1, 1).......1 HHA Sol.
AT 4=(1,1,2) (1,21 2 1,1)..3 a5
A 5=(1,1,3)(1,3,1)(3,1,3) (1,2,2) (2,2, 1)
@2, 1, 2)...6 A
.69 FH FA AHA =1+3+6=10

. s P = 1 -
-, 3Taferd =1-7

.5 103
108 108
Freifera urg = ® 1800 ST T YeviA IS &
wq o gerar T ¥
72.

IT (Grade C) W T ST BTATST i qorT |
foram 1fer BERT 9 U (Grade B) wia femam
27

[1] 54 [2] 3
[3] 60 [4] 50
[5] STafa W

[1] 364 [2] 154
[3] 1092 [4] 728
[5] Question not attempted
[1]
Required number of ways =
14x13x12
14 14 14
C =*C Mo =00 re
1 (14-11) 3 3x2x1
Three dices are thrown simultaneously. What
is the probability that the sum of the numbers
on their top is at least 6?

364

5 1
[ 108 21 24

103 17
3] 108 4] 18

[5] Question not attempted

[3]

Required probability = 1 - (sum less than 6)
Sum less than 6 means 3, 4, 5

Sum 3 =(1, 1, 1)....... 1 Case
Sum4=(,1,2)(1,21) (2,1, 1)...3 cases
Sum5=(1,1,3)(1,3,1)(3,1,3)(1,2,2) (22,
1) (2, 1, 2)...6 cases

- Total cases lessthan 6 =1+ 3 + 6 =10

=l—_

*. Expected Probability 216

s 10
108 108

The following pie chart shows the performance
of 1800 girl students in terms of grades:

How many more students have obtained Grade
B than those who have obtained Grade C?

[1] 54 [2] 3
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Sol. [1] [3] 60 [4] 50
¥E Bk CTW FT a1 BE & i S® =3% [5] Question not attempted

Sol. [1
.-,ﬁaﬁﬁaﬁaﬁwmﬂsmx%%zl ol-0

Difference between students getting grades

. . . Band C=3%
73. WR Sk o A ASIRA bl Ueh Ul ® faha 5
WE ¥ ASTN A HehaT ¢ Alg Wl wgfeRal wer - Required no. of students = 1800% —— = 54
i %2 100
[1] 720 [2] 300 73. Inhow many ways can four boys and three girls
be seated in a row if all the girls are seated
[3] 120 [4] 320 together?
[5] eTgafia we [1] 720 [2] 300
Sol-[1] [3] 120 [4] 320

4AE® + 3 SfRA Bl

fe o foern ® afe @A aefwal W B e Sl
q orefeRal 1 T Ufhe AT IR Permute 4 .

[5] Question not attempted

[1]
There are 4 boys + 3 girls.

- are seated in a row if all the three girls are
48@,@ + E@W &l Th Ufpe together. Will consider these three girls as a
=51 x31=120 X 6 pack and get them permuted-
=720 One packet of 4 boys and all three girls
. = 5! I =
74. Trafataa smefa ¥ gw fwa 2 _?2;3 B0
74. How many circles are there in the following
figure?
[1] 4 [2]5
[3]6 [4]7
[1]4 [2]5
[3] 6 (4] 7

[5] Question not attempted
Sol. [4]

, There are 7 circles in the picture.
P@Q % 54 ¥ ‘P, Q% w& & Directions : Study the following information
P+Q 1 3 & ‘P, Qe WE B carefully and answer the questions given

P$Q = 374§ ‘P, QF U 2 below :

‘P @ Q" means ‘P is sister of Q’.
’ 0, V4 s ]
P % Q= @i 7 P,Q‘clﬁﬂﬁﬂ%l ‘P + Q' means ‘P is brother of Q'.

‘P & Q 1 e g ‘P, Q1 T 2 ‘P $ Q" means ‘P is husband of Q'.
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75. Trafaftaa § @ s ar ifveafs @ feaen ‘P % Q means ‘P is mother of Q'.

&t Frewd g wdhar © ‘P & Q' means ‘P is father of Q.
‘A%B@C+DS$E%F? 75. Which of the following can be the correct
[1] D, A % T 3 conclusion drawn from the expression

2] C, Far = 31 ‘A%B@C+DS$SE%F?

1] D is daughter of A
2] C is paternal uncle of F

[3] A, Cden E &1 forr & {
[3] A is father of C and E
[
[

[4] A * < gEE G991 T 9H 2
[5] TgaRa W=
Sol.[2] B@ C = B, C &t &g 2|
C+D =C D% 9 8 D$E =D, Ed g,
qfq 2
E%F =E,F %I A« 81 D, A %1 9 &I
C F# fm D =1 ﬂ]ﬁ%\l, A’W%B’CHWD E% F = E is the mother of F. D is the son of A.

kal ) C is the brother of D, father of F. A is the
Aﬁ@ﬁgﬁﬁ%ﬂﬁgﬂ%l mother of B, C and D.

76. Tmwfafaa swefa W fama o € 2

4] A has two daughters and only one son.
5] Question not attempted

[2] B @ C = B, C Is sister of.

C+D = C,Dis the brotherof D.D$E =
D, E is the husband of E.

A has a daughter and two sons.
76. How many triangles in given figure?

/

[1] 14 [2] 12
[3] 15 [4] 13
[5] Question not attempted

Sol. [4]
TH 3% 9 a9 sl &t 9@ =1,2,3,5,6,8=6  Sol. [4]
T 3Rl W ﬁl‘ﬂGﬁ T TE = (1,2), (5 6), (45), Number of triangles made of one digit = 1, 2,
6,7) =4 3,5,6,8=6
o il @ s Frgs # "@emwn = (1, 2, 3), (5, 6, 8) Number of triangles formed by two digits =
=9 (1,2),(56),45),(06,7) =4
) e G W S # e = (4,5,6,7) = 1 Number of triangles formed by three digits =

o FA T FT TS =6 +4+2+1=13 Frgt gilfrlll\je)zlr (S% fl"ii;;lezs formed by four digits
77. & TE 3T Pl A ¥ hA-W < T wFfa 4,5,6,7) =1
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Sol.

78.

Sol.

79.

Sol.

80.

Sol.

wEr wfaferar &1 S& qdur w9 fafa o w@r

wa?

PRA YER
[1] asgavas
[B] aavasq
[5] saRa we

[B8] savasaa

afe NOIDA &I STNIF & dr MEERUT &t

[2] aaaaay
[4] 9gavaga

+5

T FR

[1] QIVYX [2] RJWZV
3] RIJWZY [4] RIIVYX
[5] sTgaRa W

[3]T|\I(‘)]DA+5 $TNIF

ERUT

+5

R WZY
A

S
——m

i

A A A

AB1, DC3, EF5, HG7, IJ9, LK11, ?

[1] LM12 [2] NM13

[2] MN13 [4] ML13

[5] sTafia wed
A+3g+1é+351+1?+315+111\?[

[3] é +1 (3: 43 ](.)7 +1 (7} +3 1}) +1 E +3 K}
1 +2 3 +2 5 +2 7 +2 9 +2 11 +2

Tfe & T 31 YW & g MY AN H A
foan Sirar ®, A e ® @ we-wn faeew 9E eI
W 3MSd e & o A W HET A9 Thm ?
AURRGHRSWCGIOPDSQT

[1] W [2] U
[3] A [4] R
[5] sTfafd e

[2] & & SR g -
AURRGHRSWCGIOPDSQT

3E, WAHR T8l 38 9N Hl I a1 W
WSRHGRRUACGIOPDSQT
;T AR W MSd R W AR U e IR
U =l

77.

Sol.

78.

Sol.

79.

Sol.

80.

Sol.

Hence the total number of triangles = 6 + 4 + 2
+1=13 tringle

Which of the answer figures is the right
mirror image of the given figure?

PRA YER
[1] asgsavaaq

[B] savasa [4] agavas
[5] Question not attempted

[2] saaaay

[B] savasa

If NOIDA is coded as STNIF then how
would you code MEERUT in that code
language?

[1] QIVYX [2] RIJWZV
[3] RIJWZY [4] RIIVYX
[5] Question not attempted
[3]]‘\I(|)IDA+5 s INIFE
[RITWZY]

+5
+5
+5
+5
+5
+5

?TAA 4

AB1, DC3, EF5, HG7, 1J9, LK11, ?
[1] LM12 [2] NM13
[3] MN13 [4] ML13

[5] Question not attempted

1 4 5 8 9 12 13
[3] A +3 D +1 E +3 H +1 I +3 L +1 M
2 3 6 7 10 11 14
B +1 C +3 F +1 G +3 J +1 K +3 N
1 +2 3 +2 5 +2 7 +2 9 +2 11 +2

If the first half of the given letter series is
reversed, then which of the following will
be the third letter to the left of the eighth
letter from the right?

AURRGHRSWCGIOPDSQT

[1] W [2] U

[3] A [4] R

[5] Question not attempted

[2] The given letter series -
AURRGHRSWCGIOPDSQT
Now, reversing the first half as in the question
WSRHGRRUACGIOPDSQT
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81. WE 25 We gferur fawm & wew, ad wIw o 15

HieX oIem 3 @I 9% WU 99T 3N 25 Hiew
T 3T TE N IR foig ¥ o fomr & &
?

fl] 3fEor - E [2] =f&m
[3] sferor - ufem [4] SR - ufved
[5] eTaRa wed

Sol. [3]

s

1 5.
25 .

N
NE
W- E
SW SE
S

82. WFHEA & UES! o WEHI % SR V&Y i WSl

I T G 1S TS & T8 ¢ 3 98 @

3-8 TS US T {

IUed ROl T Gurfaa ware Fefafaa o @

-9 BT Hehal 27

[1] TR fFM 3 999 Y€ 8@ ¥ Tod ST
FIfeIt & WHM & WY Y@ B GSHI hl
TG hi ot

[2] TR & IR Te& © frafaa &9 9 dt g &t
I HE F O89S FeA | A Bl 4G
geel ¥ VeI W ot §

[3] form & Tgei it TREHd & AT SRR BT A
FH F TR W ey @R

[4] OEF & TR H AN BH GEHI W €@
Rrerd w@ &

[5] sTgaRa WA

Sol. [2] foeheq [2] @& HSHI 1 Y9G B Fehal &l
frdr : i fou @ W W U O & geme e

83.

T ¥ qer e e o Frewd R ™ § R

81.

Sol.

82.

Hence, the third letter to the left of the eighth
letter from the right will be U.

Mohan walked 25 metres towards South,
took a right turn and walked 15 metres. He
then took a left turn and walked 25 metres.
Which direction is he now from his starting
point ?

[1] South - East [2] South

[3] South-West [4] North - West

[5] Question not attempted

[3]

The condition of the roads in the city has

deteriorated considerably during the first

two months of monsoon and most of the

roads have developed big pot holes.

Which of the following can be a possible

effect of the above cause?

[1] The municipal corporation had repaired

all the roads in the city before onset of

monsoon with good quality material

A large number of people have developed

spine related injuries after regularly

commuting long distances by road within

the city.

The municipal corporation has been careful

in choosing the contractors for repairing

roads in the past.

[4] People always complain about potholed
roads during the monsoon months.

[5] Question not attempted

(2]

(3]

TR : U TG F 3T FAE § Y T Sol. [2] Alternatives [2] may be influenced by poor roads.

? S YU HA el H 5SSl H kel el

K

freendd

A. YHUH FHE A FH AR gL A g B
g hie 2l

B. WFe fq ® = & off gt €

&<

[1] 9% f=htd A Seried 1 SFERO HT

[2] 9% =kt B SRl SEROT T R

[3] 9% < frepd SR STERT W

[4] =t 7 @ frepd A ok 9 € e B s

83.

o Directions : In the following questions, a

statement or two are followed by two

conclusions. Give answer

Statement : Smoking is one of those human

weakness which tends to test the willpower

of the smoker to the edge.

Conclusions :

A. It is very difficult for the smokers to give
up smoking even if they want to do so.

B. Human beings have other weaknesses as
well.

Code :

[1] If conclusion A follows.

[2] If conclusion B follows.

[3] If both A and B follow.
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Sol.

[3] ‘YHaH HEE Y SH A ¥ wh w2 -
T 7E e ? o gea wifa o s it ot el
gl weF ¥ e ¥ TR yEuH ST HE Hicd 2

fAder : A9 YT § TH weA SR SEH 9K HEAE! &

84.

Sol.

85.

Sol.

86.

T STE A 3R B Ry M ¥ wrfE @ aod 9

IUE el weEtes ot | ® S wmen, i enfg

% Hed # GUR, o A M H WH Sl

FrfarEl 9 Heifod e 21 wed § & T S B

MR W Y] Hed § T Y&h a1 Rl GEl

A € R U 9% a9 e € T TRy e gt

4 9 %A @ FriaE sEeEd & e qadr w9

¥ ST H 2

we : felt when & oiftm o & <R wga ° wEi

1 3rfad Gl w1 TR g el T R

T:FIﬁEH%'T:

A. T 9T BT H WO g S S aedt foRet
ff wlen § d84 & fou o w9 @ yiEfa
R T s =nfeu |

B. I R 37 B & ifeeei &l 98 gfaa
FH & fau garn s =fee ff afos § 5w
TE 1 FAER e Tal fhal S |

&<

[1] 3% Hoet HEaE A STHERO H B

[2] 3% ot HEEE B S0 w2

[3] 1 df wEEEl A MR 7 € wEER B SFHE
w2l

[4] A @R B SHi shrlenfeal SIeR0 St

[5] ergafa 5=

[2] R B, §uR & foq e |

TR o 3MET & Weler W WEt e -

A. 39% 1Y 9 5= w1 Fgfed ToA9e §) @t
S 2

B. TSRH H 319 T A 6 fom emam wfea fora
™ 2l

C. I8 Yardt TS Heensti ?q oT_M @i fawife

T 2l
[1]%aa AT B [2] 3w @t
[3] ®aa A [4]%aa BT C
[5] STaRa WA

[2]

T o ot H 1 31e7e] TS 4 9S8 B 21 T8 Th

Fauer Geen B odHH § wal fam e et

2021 ¥ wgaA foe =1 sremern | wisa fhan w R

A. TS & g et gesmst JwRe qreftere
g, S AR § TSR & YIqH STgAHst a1

B. T 1954 ¥ Udeg faumes a1 & a1 & fog

[4] Neither A nor B follows.
[5] Question not attempted.

Sol.[3] ‘Smoking is one of the shortcomings of the

human being’ - From this it is clear that there
are other shortcomings in the human race as
well. Itis clear from the statement that quitting
smoking is quite difficult.

Directions : In question below is given a statement

84.

Sol.
85.

Sol.

followed by two courses of action numbered
A and B. A course of action is a step or
administrative decision to be taken for
improvement, follow-up or further action in
regard to the problem, policy, etc. On the basis
of the information given in the statement, you
have to assume everything in the statement
to be true, then decide which of the suggested
courses of action logically follow(s) for
pursuing.

Statement : A large number of students have

been caught using unfair means during the

final year degree examinations.

Courses of action :

A. All these students should permanently be
debarred from appearing for any
examination conducted by the authority.

B. The guardians of these students should be
called by the authority to inform them at
any such behaviour in future will not
tolerated.

Code :

[1] if only Course of action A follows.

[2] if only Course of action B follows.

[3] if neither Course of action A or Course of
action B follows.

[4] if both Course of action A and Course of
action B follow.

[5] Question not attempted

[2] Action B is necessary for improvement.

Select the correct statements regarding

Rajasthan Finance Commission:

A. Its Chairman and members are appointed
by the Governor.

B. A total of 6 Finance Commissions have
been constituted so far in Rajasthan.

C. It recommends grants for Panchayati Raj

institutions.
[1] A and B only [2] All of the above
[3] A only [4] B and C only

[5] Question not attempted

[2]

The State Finance Commission consists of 1
chairman and 4 members. It is a constitutional
body. Presently the Sixth Finance Commission
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Sol.

87.

Sol.

88.

T gl H Higdae garfedn - ERee e
EalenpIl

Sue weAl W faemr & qen e few T e
& WY W W HAT N T R

[1] %o B [2] AT B3H

[3]F @ A & B [4] %o A

[5] gt w

[4]

o PR Trefare -

g fraffed gesmdt (3-3-1952 9 31-10-1952)
Tom IUREHAT (1-11-1952 § 13-11-1954)

I STgEAHAT:- 1. eRERR quel 2. R A gy

W1 3. AHdt FHHA e 4. GfEE e

A ganean:- 3 IR a) TSReH & GeaHsl

o qel Halfts 16 9% den 194 Al # orafy

TEHA ®/| Tee f9uRe a0 & a1 9] & fag

U THEA H 6 7GR, 1954 S AeAad ganear o

TR GEAHA SN0 S i g

faurufivg & dag W Feafafea waat wt

fererer ifaT-

A. IR 171 (1) & STUR 3% TS &1 &
foumam # 95 e & H-fieE 9 e
T Bh

B. &% feifod W, %ol W8 W& &% 5/6 Bl
K

C. 3 fated eTgwifte gfaffaa & oM ™
Thel HhUUA T UG ® STHR W B 2

WE FYT A WA HE h HIEAW W RINC-

[1]%act A9 B [2] % Ba C
[3] e @t [4]®aa Ad C
[5] gt w

[3]

T foum 9w - @1} 171 (1) - 39 we=l
F G fayE w9 wen & UHh-fieE 9
i &1 B foheg o7 W& F W ®H 40 STEvT
gt faifea 9s@-5/6 2 @ den Tk 951/
680 € we@l w1t Ui gt ®
YR W Thel HHHUE Ad U5 % 99X 2l 2
TR 3o e & U9 e ATy
AR wEAA AfE A & wed gar Saen ),
Fdu § Frfafaa ® @ form s & seay €7

86.

87.

Sol.

has been constituted in April 2021 under the

chairmanship of Pradyuman Singh.

A. The first elected Chief Minister of
Rajasthan was Tikaram Paliwal, who later
became the first Deputy Chief Minister of
Rajasthan.

B. Mohanlal Sukhadia defeated Hiralal
Shastri in the contest for the leader of the
Ruling Party in 1954.

Consider the above statements and select the

correct statement using the code given

below.

[1] B only [2] Both A and B

[3] Neither A nor B [4] Only A

[5] Question not attempted

[4]

Shri Tikaram Paliwal:-

First Elected Chief Minister (3-3-1952 to 31-

10-1952)

First Deputy Chief Minister (1-11-1952 to 13-

11-1954)

Other Deputy Chief Ministers:- 1. Harishankar

Bhabhadra 2. Banwari Lal Bairwa 3. Mrs.

Kamla Beniwal 4. Sachin Pilot.

Mohanlal Sukhadia:- He became the Chief

Minister of Rajasthan four times and remained

in office for maximum period of 16 years and

194 days. On November 6, 1954, Mohanlal

Sukhadia defeated the then Chief Minister

Jainarayan Vyas in the contest for the post of

leader of the ruling legislative party.

Discuss the following statements regarding

the Legislative Council-

A. According to Article 171 (1), the number
of its members shall not exceed one-third
of the total number of members of the
Legislative Assembly.

B. The elected members are 5/6 of total
members.

C. They are elected on the basis of
proportional representation on the basis
of Single Transferable Vote System.

Select the correct statement using the code-

[1] A and B only [2] B and C only

[3] All of the above [4] A and C only

[5] Question not attempted

[3]

State Legislative Council - Article 171 (1) - The

number of its members shall not exceed one-

third of the number of members of the State
legislative assembly, but that number must be
at least 40. Elected members-5/6 and
nominated members-1/6. Members are
elected on the basis of proportional
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Sol.

89.

Sol.

90.

Sol.

[2]

A S0 HAR A - HEA =, TS
JTd AT (26-11-2010@ 31-12-2012) 9
FRAA F s & Fay Ja1 <EEd ®1 TaqH
H U gFafeR A & srene

TG ¥ &M TS Ifd STaedT &GI8 H

& fou ufem faum ¥ wfagRe womett w9 @
T& il -

[1] 3¢ 2011 [2] =% 2012

[3] & 2013 [4] = 2014

[5] eTgaf we

1]

Tore o Hagem HfHe SiEmed g 39 e i

Y& H H T R T TR GEEHa ST

Tedd gR1 1 S9adt 2011 ¥ SR U6 SiuqR H YE

SR - YAH HETR - ATAHA
ERGIESICISES S S R

SR~ YW HETR - UK FAR A
TauE- T < g

Y T W Gt T SR’ gRT Tiea

Frafafaa afufal «w fomme wifsg -

A. T fag = gffa

B. Wik et wiHfd

C. Ry o1 = wfafa

D. 9. T4 =W |H|

T TS T W HIATTRA §-

[1]1B,C, A, D [2] A, B, C, D

3] A, C D, B [4] B, D, A, C

[5] eTgaf we

[1]

TR WHR gRT TSd U=maedt T o Haitera

wftfaat-

A. Wik stelt |iHfd-1964

B. frRyit o == wfufa, 1973

C. =™ fog =i =fafa, 1990

88.

Sol.

89.

Sol.

90.

representation by single transferable vote
system.

Former Chief Justice of Rajasthan High
Court, who was the youngest Chairman of
the Bar Council of India, is currently the
Chairperson of which of the following
Commission?

1] Rajasthan State Human Rights Commission
2] National Human Rights Commission

[

[

[3] Central Vigilance Commission

[4] Rajasthan State Information Commission
[

5] Question not attempted
[2]

Justice Arun Kumar Mishra:- Chief Justice,
Rajasthan High Court (26-11-2010 to 31-12-
2012) was the youngest chairman of the Bar
Council of India. At present he is Chairperson
of the National Human Rights Commission.

Since when the commissionerate system was
started in the police department to
strengthen law and order in Rajasthan-

[1] Year 2011 [2] Year 2012

[3] Year 2013 [4] Year 2014

[5] Question not attempted

[1]

First attempt was made to start this system
in Rajasthan by Bhairon Singh Shekhawat. The
then Chief Minister Ashok Gehlot started this

system in Jaipur and Jodhpur from January 1,
2011.

Jaipur:- First Commissioner - B.L.Soni
Present- Biju George Joseph

Jodhpur:- First Commissioner - Bhupendra
Kumar Dutt

Present- Ravi Dutt Gaur

Consider the following committees
constituted by the Government of Rajasthan
related to Panchayati Raj -

A. Harlal Singh Kharra Committee
B. Sadiq Ali Committee

C. Girdhari Lal Vyas Committee
D. V.S.Vyas Committee

The correct chronological order of their
formation is-

[1]B, C, A, D
3] A, C D, B

[2] A, B, C, D
[4]B, D, A, C
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91.

Sol.

92.

Sol.

93.

Sol.

D. & gfffda, 2009

E. siuaesrE gfufd, 2010

AR wfaas & fRE o § W urfeter |
el & ARAUT HT TG §?

[1] 2431 [2] 243 4
[3] 243 @ [4] 243 %
[5] srgafd w

[2]

mnmfaasnf -

243 (3):- TRUMCRIS H HEA

243 (77):- Tl 1 STRE

243 (9):~ TRUfeRien &t efafy s

243 (9):- TR qfcrsmai i wifeRE, Wi iR

AR

TR T HHETERT A & Heer § Terd

HIT W I hISTT

[1] 98 s @ifafes e 21

[2] sHeh! TomOT W 1995 H g

[3] I8 AMeTTYeRR WX Afufm, 1993 &t &/ 21
% ded Tfed fRar T

[4] 391 e SER | feom R

[5] gt w

[2]

TR T HHAYHRR ST o

TR TRew eifafe, 1993 6 &9 21 &
siarta wrl, 2000 H TOAN HRECE - SE
wifafyes ST TS AT |

TG T AT AN & UgH 37987 TH.E
T T AU ¥ UE 90T Fe fGes oft?

[1] 13 310 2006 1

[2] 14 3791 2006

[3] 16 @& 2006 1

[4] 18 3791 2006

[5] gt w

[4]

TRAE T AT ST -

TO-13 3T9a 2006, 99 H&A Yol e ot
T, . R B T et gaen e afed
(2004-2007) = 18 21U, 2006 ! T T I el
offl 3 17 319 2011 T 98 T @ TAHM STEAG-30=

kAR

Sol.

91.

Sol.

92.

Sol.

93.

[5] Question not attempted

1]

Committees related to Panchayati Raj
constituted by the Government of Rajasthan-

A. Sadiq Ali Committee-1964

B. Girdhari Lal Vyas Committee, 1973
C. Harlal Singh Kharra Committee, 1990
D. Kataria Committee, 2009

E. V.S.Vyas Committee, 2010

In which article of the Indian Constitution,
the provision regarding reservation of seats
in the municipality is provided?

[1]1243 U [2]243 T
[3] 243 W [4] 243 R
[5] Question not attempted

[2]

Municipalities:-

243 R :- Structure of Municipalities.
243 T :- Reservation of seats.
243 U :- Duration of Municipalities etc.

243 W :- Powers, authority and responsibilities
of Municipalities.

Select the incorrect statement regarding
Rajasthan State Human Rights Commission.

[1] It is a statutory commission.
[2] It was established in March 1995.

[3] It was constituted under section 21 of the
Protection of Human Rights Act, 1993.

[4] Its Office is located in Jaipur.

[5] Question not attempted

[2]

Rajasthan State Human Rights Commission:-
Established in March, 2000 under Section 21
of the Protection of Human Rights Act, 1993.
Office - Jaipur.
Statutory
Commission.

Commission. Advisory
The Governor administered the oath of office
to M.D.Kaurani, the first chairman of the
Rajasthan State Information Commission on
which date?

[1] 13 April 2006
[2] 14 April 2006
[3] 16 April 2006
[4] 18 April 2006
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94.

Sol.

95.

Sol.

96.

Sol.

Frefafaa § ¥ fee IR-usHifas 6T ¥ 9ra

¥ ATieR eI U’ sl T HYa™ | Hew@qut
gfter FamE?

[1] 9e= [2] EA RIS

[3] ®: sf=an [4] STfa

[5] srgara s

[2]

AR AYFR 73— TASHsT HieA wie (feeft)

IRd H AR AfHRR-19 ¥E S H Heaqu

qfept FE1 59 99 SUd GEeh-TEELAN 9

Freafafaa favmand fea sifes weer =t &2

A. T THERT, gaoiEn A w1 STM w2

B. Tl a1yeh, dierige, i, I R, W8 I
Td B H TR AUSK 2

C. 9REE T &1 i feem sod gfmfeq 2

[1] FR *t werfedl

[2] BT TR FeR

[3] SUEHRTG TSR

[4] Serien # geifeat

[5] STqaRd W

[2]

= BRI AR FeR F R e T @ 31ty
FR feww, 4. 9ma, R 9 e @ w5
I qk T ARl W IR, GorRen T H 3™
g 1

® BiE AR SR H HEC, e I, A9,
SRTEe, e, T Rl S9 wi e gEeE ae
Sl

I Wi T &7 (ITCZ) & da+t

% frafafaa § ¥ wE-a1 weA W@ 87

A. Yol ¥ T <01 At SR THIRa g S €
IR <feur-ufeerdt HEET R HRO S 2

B. 98 qued W@ W o wh e <o e
el Sies gard e et 2l

o fed T Fe W SUART e Wl 3T U

[1] #aa A [2] ®5a B
[3] A &R B<A [4] 9@ AT & B
[5] gaRa wd

[2]

w ITCZ gued Y@ R from = <@ aen &9 2
&l emaie g firerdt €1 Yo § ITCZ T
% BH & ME-Td feor e Sar @ o A

Sol.

94.

Sol.

95.

Sol.

96.

[5] Question not attempted

[4]

Rajasthan State Information Commission:-

Establishment-13 April 2006 The first Chief

Information Commissioner Mr. M. D. Kaurani

was administered the oath of office on April

18,2006 by Governor Mrs. Pratibha DeviSingh

Patil (2004-2007). He remained on the post till

17 April 2011. Current Chairperson-Devendra

Bhushan Gupta.

Which of the following non-political

organizations played an important role in

getting the ‘Citizen’s Charter’ implemented
in India?

[1] Pratham [2] Common Cause

[3] Care India [4] Jagrati

[5] Question not attempted

[2]

Citizen’s Charter - NGO Common Cause

(Delhi) played an important role in starting

the Citizen’s Charter in India. Its Director was

S.D.Shourie at that time.

Which physical region has the following

characteristics?

A. Damodar, Subarnarekha rivers originate
here.

B. There are abundant reserves of mica,
bauxite, copper, limestone, iron ore and
coal here.

C. Most of the Jharkhand state is included in it.

[1] Kaimur Hills

[2] Chhota Nagpur Plateau

[3] Dandakaranya Plateau

[4] Bailadila Hills

[5] Question Not Attempted

[2]

= Chhota Nagpur Plateau extends to most

of Jharkhand state, parts of West Bengal,

Bihar and Chhattisgarh. Damodar,

Subarnarekha river originates from here.

Mineral resources like coal, iron ore, mica,

bauxite, copper, limestone are found in

Chhota Nagpur Plateau.

Which of the following statements is correct

with respect to the Inter-Tropical Convergence

Zone (ITCZ)?

A.In July it shifts southwards and causes the

south-west monsoon.

B. It is a low pressure area located on the
equator where the trade winds converge.
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97.

Sol.

98.

Sol.

99.

Sol.

100.

T el S 2
w I8 ARG T SW R SW-ufe wRd W e
T BT & T @ o R0 e gand
TfRu-ufes @ SW-gd R wed ol ©
N <o e WEEA AT HRO S R
eIt (i) T GE (i) ¥ gAfEa Hifwg eiw gfear
& o fou T e W T W S -

= (i) T (i)

(a@ & fEE) (3wT)
A. T (i) ST
B. dwe (ii) siefern
C. s34 (iii) =0T TSI
D. @M (iv) STSi=rT

A B C D A B C D
[1](v) (i) (D) (1) [21Gv) @) () ()
[3] () (i) (i) (v) [4] () (i) (i) @Qv)
the
Frfafaa § @ wr@ g gfea &2

=it 1 it 2

(s &) (3a)
A, OF W (FE) - e @ SEm
B. ®fa®ifar (USA) - IS S&m
C. 9= (SHE) - A o
D. dwwmR (ffed) - =+t o
[1] A 3R B [2] B3R C
[3] A, C3R D [4] s9dx weft
Sl

w HfmI (USA) Terl JEifihl Tt wrge
% & o fava wfag 1 o€ ® fafeewa ool
feera 21

Fefafea & ¥ ®F@ ©w 8 wo@ iENfR

wewit § wfnfera = 8-

[1] Tt Sl w_w

[2] U= =EEEn S W

[3] ToRE i wew

[4] Feem foEaTdqE w=w

vl

W WRG § Rel 8 W@ i wew ¥ U
ESTE T B AR SR FR9 1 9 B

frafafea el @ faem = -

A. TR fova w1 qaw 9t lih Tdd JEen
K

B. TSN wdd Ha Sudl SRl <9 | Bl fova

Sol.

97.

Sol.

98.

Sol.

99.

Select the correct answer using the code
given below:

[1] Only A [2] Only B

[3] Both A and B [4] Neither A nor B
[5] Question Not Attempted

[2]

= ITCZ is a low pressure area located on the
equator where trade winds meet. ITCZ is
situated around the Gangetic plains in July
which is called the monsoon trough.

This monsoon trough forms a low
pressure area over north and north-west
India due to which the trade winds start
blowing from south-west to north-east
and cause the south-west monsoon.
Match List (i) with List (ii) and select the correct
answer using the codes given below the lists:

List (i) List (ii)
(Grassland) (Country)
A. Pampas (i) Venezuela
B. Veld (ii) Australia
C. Downs (iii) South Africa
D. Lanos (iv) Argentina
A B C D A B C D
[1Gv) Gif) G) @) [21Gv) @) (i) @)
31 G) Gi) () Gv) 4] G) @) (Gii) (iv)

[5] Question Not Attempted

[1]
Which of the following pairs are matched?
List 1 List 2
(Regional area) (Industry)
A. Lorraine Region - Iron and Steel
(France) Industry

B. California (USA) - Paper Industry
C. Osaka (Japan) Cotton Textiles
D
1

. Yorkshire (UK) - Woolen textiles

[1] A and B [2] B and C

[3] A, Cand D [4] All of the above

[5] Question Not Attempted

[3]

= California (USA) is world famous in the
field of information technology and
computers. This is where Silicon Valley is
located.

Which one of the following is not included

in the 8 major industrial regions-

[1] Hooghly Industrial Region

[2] Ranchi Chaibasa Industrial Region

[3] Gujarat Industrial Region
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Sol.

101.

Sol.

102.

Sol.

C. frfamoml s ool wda € Wl feed
TR T S 7

D. e T g § fer wRe o e
Eacilhcici-1

TET AT W TTT B

[1] %o B [2] ®aa D
[3] ®aa A [4] ®aa C
[5] eTgafa wed

[4]

= fam A W i T s § e
IR 1 T 9El =il qed 81 TR Th
WA Wleg Tod 7, W HAEl R GgH T
SAfieT ah el g 2l

= TS <o Wit geE ¥ fem 2

= W= THER 0 i Tean! vaq J@ern § feerd 2

Freafafea & ¥ fwa AIg &t gifea &2
L IZO ) Teafa

A. FHERER EIeCIn

B. 3Tl et

C. dhell TN TSRl 3TE

D. Yertifren S

TET AT W AT W

[1] ®aa TH [2] Faa &

[3] wee o [4] @+t gafera €

[5] i@ e
[*] Translation error
= Thel HhM TEEIe - 9

Frafafaa @ foem &= -

HESS Afeat
A AW TF (i) sEE
B. &% (i) 9 (SN W)
C. aF (iii) HeRiT
D. &M (iv) @ =&

(v) Arresit

WE HIS A I Bi-

[1] (i) - (iid) - @) - (v) [2] (@v) - () - (iii) - (v)
[3] (iii) - (iv) - (i) - (v)[4] (iii) - (iv) - (i) - (i)
[5] e3aRd wes

[3]

= 99 - U= (FHarear) - WhT &l

= e (fogam) - o« T

2 FH (HER) - Wed TG

Sol.

100.

Sol.

101.

Sol.

102.

[4] Kollam Thiruvananthapuram Region

[5] Question Not Attempted

[2]

= There are a total of 8 major industrial
regions in India. Ranchi Chaibasa region
is a part of Chhota Nagpur industrial
region.

Consider the following statements -

A. Appalachian is the largest Block mountain
range of the world.

B. Andes mountain is World's Largest
continental mountain range extended in
Seven North American countries.

C. Kilimanjaro is a volcanic mountain where
melting glaciers are found.

D. Mount Damavand Located in Turkey is
the highest peak of Western Asia.

Select the correct statement-

[1] B only [2] D only
[3] A only [4] C only
[5] Question not attempted

[4]

= Sierra Nevada is the Largest Block
mountain in the world situated in Western
USA. Appalachin is an old fold mountain,
extended in Canada and USA.

= Andes Mountain Series is situated in South

American continent.

=

Mount Damavand is located in Iran's
Elburg mountain range.

How many of the following pairs are correctly
matched?

Desert Situation
A. Kalahari Botswana
B. Atacama Chile
C. Takla Makan Saudi Arabia
D. Patagonia Argentina

Select the correct code-

[1] One only [2] Two only

[3] Three only [4] All are matched
[5] Question not attempted

[*] Translation error

= Takla Makan Desert - China

Match the following -:

City Rivers
A. Phnom Penh (i) Irrawaddy
B. Hanoi (i) Menam(ChaoPhraya)
C. Yangon (iii) Mekong
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103.

Sol.

104.

Sol.

105.

Sol.

106.

Sol.

107.

Sol.

= FEM (FF) - Al &

= dhih (UEdS) - WE (S wEn) A

frfafaa sl W faem w=i-

A. @i, foelt iR uw ‘fafem feor o @)

B. 9 & AfMUR &F ¥ elfeardis T Haayul
oS i T B

SUE U W WE R Rl OET -

[1] ®aa A [2] ®aa B

[3] A @R B [4] =° ¥ +E T
[5] sTgafa wed

[2]

A ® 399 "R ® WeR 3N SERA ® SR
srster, faeht 3R seffern ‘faferem o’ a9 2

ANA ST AT =TT W -

[1] i =t 3N dTY

[2] He-atta &t framn Sergda

[3] ST &t foeRiften Sterwar
[4] fafadidt =< TR WY

[5] TgaRa W=

[4]

D el T B Y

¥ TW UOME arest @ fava @ we aEt
wiwr wEl g S @ 87

[1] 3R [2] SR

[3] Ee [4] 33TR

[5] STgaRa we

[4]

TEYM Y9 TR 3T, IR | fova &1 god oSt
3 g% wuHEl STt w1 gid e ST @R
fFE WM W TSRAM &t Ugell SISt e
2 3 weg TS 87

[1] 35a9¢ [2] SR

[3] T [4] ST

[5] STgaRa s

1]

AR YT (P AN) H HERION Fdq H A
el WU e 2 ¢ 1 Heew ge T
T

TR T Ugen 3ehee e Reradt ures et
AT S T 87

[1] STege [2] SRR

[3] =TT [4] TR

[5] sTafa T

[2]

Sol.

103.

Sol.

104.

Sol.

105.

Sol.

106.

D. Wuhan (iv) Red River

(v) Yangtze

Select the correct code-

(1] (i) - (iii) - (@) - (v) [2] (V) - (0) - (iid) - (V)

[3] (iii) - (iv) - (i) - (V[4] (i) - (iv) - (i) - (i)

[5] Question not attempted

[3]

Phnom - Penh (Cambodia) - Mekong River

Hanoi (Vietnam) - Red River

Yangon (Myanmar) - Irrawaddy River

Wuhan (china)- Yangtze River

Bangkok (Thailand) - Menam (chao

Phraya) River

Consider the following statements-

A. Argentina, Chile and Peru make up the
'Lithium triangle'.

433030

B. Vladivostok in Leningrad region of Russia
is an important ship building site.

Select the correct statement from above-

[1] A only [2] B only

[3] Both A and B [4] None of these

[5] Question not attempted

[2]

Argentina, Chile and Bolivia make up the

'Lithium triangle', due to higher levels of

reserves and production of Lithium.

Select the mismatched pair -
1] Nile River

2] Saint-Lawrence River
3] Zambezi River

4] Mississippi River

[5] Question not attempted
[4]

= Colorado River Hoover Dam

Aswan Dam
Niagara Falls
Victoria Falls

—_————

Hoover Dam

Where is the world's biggest seated idol of
Panchmukhi Balaji being build?

[1] Ajmer [2] Jaipur

[3] Sikar [4] Udaipur

[5] Question not attempted

[4]

World's largest seated idol of Panchmukhi
Balaji is being build at Gurudham Prem Nagar
Ashram, Udaipur.

At which place Rajasthan's first CNG based
toy train has been run?

[1] Udaipur [2] Jaipur

[3] Kota [4] Jodhpur
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108.

Sol.

109.

Sol.

110.

Sol.

111.

Sol.

112.

Sol.

113.

TSI %1 veenl e fEd el ue e,
SR H S S @I R

TET T N 9N Ffewr wiew furE-2022 ®
I T ShH-9T T 87

[1] 10 & [2] 15 af
[3] 8 af [4] 12 =
[5] sTgaf e

[2]

IR TR N SN sfrea wfed Rue-2022 # T
4154 & g R

form Fomee @ ToReE g favafaeem
W R W ““faem arfiifa’’ =t swifr ¥ wwra
fopar T 37

[1] T = [2] Twade fifg Teie
[3] sFert wi@Ew [4] sTgel =een
[5] ergafa e

[4]

TorEyH Geepd fovafaerea 3 etqel =icen =i ‘fo=n
Ry’ Sy ¥ et R

Frafafaa o & fea 2o wiida sared-2023 4

fova o1 wdds gea it ferar e -
[1] S=R o [2] SeataeE UerE
[3] T Yo [4] ST Yer|

[5] eTgaRa s

[3]

THET Yoig (SAQ) i oad =g agd-2023
4 wdgs gea wifta fmar mm

feeaimert & fou S &/ 9 W IeRgE

& T frer =1 Tt G wrE ga 87
[1] &R [2] STHgR

RESE [4] et
e

R H AT & fau Ipe w1 7 TE
JEHR W g 2

TR SH-8F AT & dgd 100% et et

T HA-91 37

[1] & [2] <t
[3] =i [4] TSTTd
[5] eTgaRa W

[2]

AT FUEEST S 89 Ao & d8d 100% THerst
ol UEel T4

A & | TR 91T W 100% AT Wi st
T ITEROT foRar T@w #72

Sol.

107.

Sol.

108.

Sol.

109.

Sol.

110.

Sol.

111.

[5] Question not attempted
[1]
The first CNG based toy train by the name of

Maharana Pratap was started in Udaipur city
(Gulab Bagh).

Where is Rajasthan's first Integrated Resource
Recovery Park being built?

[1] Jodhpur [2] Jaipur

[3] Kota [4] Ajmer

[5] Question not attempted

[2]

Rajasthan's first Integrated Resource Recovery
Park is being built at Tholai, Jaipur.

What is the position of Rajasthan in the India
Justice Report-2022 released by Tata Trust?
[1] 10th [2] 15th

[3] 8th [4] 12th

[5] Question not attempted

[2]

Rajasthan secured 15th position in the India
Justice Report-2022 released by Tata Trust.
Which shooter has been honored with the
title of “Vidya Varidhi” by Rajasthan
Sanskrit University?

[1] Shagun Chaudhary

[2] Rajyavardhan Singh Rathore

[3] Avani Lekhara

[4] Apurvi Chandela

[5] Question not attempted

[4]

Rajasthan Sanskrit University honored Apurvi
Chandela with the title of 'Vidya Varidhi'.

Which of the following declared as the
world's best hotel in Travellers' Choice
Awards-2023-

[1] Umaid Palace [2] Udaivilas Palace

[3] Rambagh Palace [4] Jagnivas Palace

[5] Question not attempted

[3]

Rambagh Palace (Jaipur) declared the Best
Hotel in Travellers' Choice Awards-2023.

Which district of Rajasthan has received the
National Award for doing excellent work for
the disabled?

[1] Ajmer [2] Jodhpur
[3] Alwar [4] Karauli
[5] Question not attempted
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[1] BT [2] 3o
[3] feeett [4] STefE
[5] sTqafid e

[4]

T I H 100% WA Feferd a5 sh1 STHIER0T
o T R

T W UG Mes ATM gl wifud gam?

[1] 77=E [2] STEHETEE
[3] == [4] 2ETETE
[5] sT3aRd we

[4]

IRd 1 el WH & e 39 9 Ties ATM
FeER § wfta fean T R

T g O WM 9l Snefim fuve-2024 o
e AfeeT-

[1] faver amemfE [2] B e
[3] BFET w= [4] SRt A
[5] eTgaf e

[3]

frEM w =i W 9 ool Jeelt Afgen sfafe
RIEIil
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[1] SfE wifew [2] Heme HRE
[3] Wil e [4] 39 ® ¥ HE T
[5] ST3aRd e

[1]

o cfm »ifEg (e W Ium) UN He™e
% 789 WA & AR YH Y 2

o dmct fosEaedt dfed Weell dfgen 9 THAS
I e @ 7 3 T W g T e
9 HYF T HoET & 8 ¥ (1953) i 1eAa
ot

T & § gC i wfgen gl TTEr & W

[2] ST
[4] merfdrEn

Sol.

112.

Sol.

113.

Sol.

114.

Sol.

115.

Sol.

116.

Sol.

[3]
Alwar has received the National Award for
its excellent work for the disabled.

Which state has the 100% coverage under
Pradhan Mantri Jan-Dhan Yojana?

[1] Kerala
[3] Haryana

[2] Telangana

[4] Gujarat

[5] Question not attempted

[2]

Telangana is the first state to achived 100%
coverage under Pradhan Mantri Jan Dhan
Yojana.

In which city has 100% methanol powered
buses been unveiled recently?

[1] Hyderabad [2] Pune

[3] Delhi [4] Bengaluru

[5] Question not attempted

[4]

100% methanol powered buses have been
unveiled in Bengaluru city.

Where was the country's first Gold ATM
established?

[1] Mumbai [2] Ahmedabad

[3] Chennai [4] Hyderabad

[5] Question not attempted

[4]

India's first gold coin ATM has been
established in Hyderabad.

Woman included in Artemis Mission-2024 to
be sent by NASA-

[1] Linda Yaccarino
[3] Christina Koch
[5] Question not attempted

[3]

Christina Koch will be the first female
astronaut to walk on the moon.

[2] Mary Marmia
[4] Jeremy Hansen

Artemis Mission-2 will take place in the year
2024, which will include Christina Koch
(female), Reed Wiseman, Victor Glover, Jamie
Hansen.

Who has been made the President of the 78th
session of the United Nations General
Assembly?

[1] Dennis Francis  [2] Csaba Korosi
[3] Antonio Guterres [4] None of the above
[5] Question not attempted

[1]
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ARG TW A WY HIRA H TR AR Afga
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[3] B ® oTRe fawm § ®f9 d9gM 8q Hriwd

[4] & w1 9Y WA H AT FH B HEHA
=

[5] ergafe W

[3]

T 7 BT & H ol o Adie o iR drenfient

% fofi= Teqgetl ®f el WHE w1 & fag

START T8el Y& I Tl TUHT U A "Space

Science and Technology Awarness Training" 21

T & o Teufa gar fRw famrewe 9m @

YHige wer @S wer fewar-

[1] INS Srom=r [2] INS foem@mIeeTH
[3] INS faeia [4] INS =S
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[1]
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Frefafaa g @ faem SifTe-
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A. % &ifF fewd (i) TS HAR
ESIED

B. §9 @& (i) =rrfd F&T FHAR
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Sol.
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Sol.

119.

Sol.

120.

* Dennis Francis (Trinidad and Tobago) has
been elected President of the 78th session
of the General Assembly.

* Smt. Vijayalakshmi Pandit is the only
personality from India and first women
who was selected for this post. She was
the President of the 8th session of the
United Nations General Assembly (1953).

Who was the winner of the recently held

Junior Women's Hockey Asia Cup?

[1] India [2] Japan

[3] Korea [4] Malaysia

[5] Question not attempted

[1]

Indian team won the Junior Women's Hockey

Asia Cup by defeating South Korea. This

tournament was organized in Japan.

What was India's position in the medal tally

in the 22nd Commonwealth Games?

[1] Second [2] Third

[3] Fourth [4] Fifth

[5] Question not attempted

[3]

India stood fourth in the medal tally in the

22nd Commonwealth Games held in

Birmingham (England).

What is the purpose of ISRO's START

program?

[1] Discovery of water and minerals on the
moon

[2] To make powerful rockets to intensify
space missions.

[3] Program to increase students' interest in
space science

[4] Running a program to explore the outer
layer of the Sun.

[5] Question not attempted

[3]

ISRO has recently launched the START

initiative to provide students with exposure

to various aspects of space science and
technology. Its full name is Space Science and

Technology Awarness Training

Which aircraft carrier was recently awarded
the President's Color Award by the
President?

[1] Dronacharya [2] Visakhapatnam
[3] Vikrant [4] Karanj
[5] Question not attempted
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[31Gi) () (i) (iv) [4]Gi) () (i) (iv)

[5] eTgafe e

[2]

Ay TE AR - TS FA
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qeA I 3G - TS AR

SIERIS] - =Efd Y& HER
et
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[1] Toa [2] e
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[5] sT3aRd e
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Fraffera g8 22

[1] heeia Ao [2] Sifsten Hedt
[3] Teer Tetm  [4] T fuw g
[5] eTgafe e
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o A Tk TR TR ®1 Teel Afeen Tgufd
fraffea g2 1

o WRtE T A qEE ]9 R
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AT A IR FZ?

[1] 20 @€ 2023

[3] 9 w&d 2023

[5] sgafd w

[3]

T TY S o TR0 R Gaef 7g ¢ Iw e

IS 9 HEE 2023 1 URY & e o

frafafaa wesl T Tacier ifsTu-

A. TRIER W % fagg yom fose 3ufa 3 fea,
St 3R geen forer o em

B. ?WWWWWWW
|

C. o5 <9 & SIER Fef w s i e
o= W Wi & W 2
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[2] 25 w2023
[4] 10 SFa& 2023

Sol.

121.

Sol.

122.

Sol.

123.

Sol.

124.

[1]
INS Dronacharya has been awarded the
President Color Award.

Match the following pairs-
Office Bearer
A. Chief of Defense (i) Rajeev Kumar
Staff
B. Union Public (ii) Justices Pradeep
Service Kumar Mohanty
Commission
C. Chief Election (iii) Anil Chauhan
Commissioner
D. Lokpal (iv) Manoj Soni
A B C D A B C D
[1] (i) (iv) (i) (i) [2]GiE) (iv) @) (i)
[B](iii) (i) (i) (iv) [4] (i) (1) (i) (iv)
[5] Question not attempted
[2]
Chief of Defense Staff - Anil Chauhan
Union Public - Manoj Soni

Service Commission

Chief Election - Rajeev Kumar

Commissioner

Lokpal - Justice Pradeep
Kumar Mohanty

Where was the world's first Nano Urea liquid

plant established?

[1] Gujarat [2] Karnataka

[3] Maharashtra [4] Uttar Pradesh

[5] Question not attempted

[1]

The world's first liquid urea plant has been

set up at Kalol in Gujarat.

Who has recently been elected the first

woman President of Slovenia?

[1] Caitlin Novak

[2] Georgia Meloni

[3] Magdalena Anderson

[4] Natasa Pirk Musser

[5] Question not attempted

[4]

* Natasa Pirk Musar has been elected the first
female President of Slovenia.

* Slovenia is a Central European country.

When did the Ushtra (Camel) Conservation

Scheme started which was announced in the

Rajasthan Budget 2023-24?

[1] 20 March 2023 [2] 25 February 2023

's’q?iilﬂ U N fHa 9T T 22 [3] 9 February 2023 [4] 10 January 2023
[1] el Th e [5] Question not attempted
1.
[2] %o R FHUA Sol. [3]
S Page 41
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[3] aa @ wHeH

[4] ®E oft 7&f

[5] eTgaRa s
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3] Hfd F9EE
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[
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126.

Sol.

“Camel Conservation Scheme” was started on

9 February 2023 for the conservation and

promotion of the state animal camel.

Observe the following statements-

A. The first rebellion against Mahavir Swami was
led by Upali, who was also his first disciple.

B. The epistemological theory of Jain
philosophy is called Syadvad.

C. According to Buddhist philosophy, a

person who attains Nirvana attains Anant

Chatushtaya.

Pratitya Samutpada is the principle of

causality of Buddhism.

How many of the above statements are incorrect?

[1] Only one statement

[2] Only two statements

[3] Only three statements

[4] None

[5] Question not attempted

[2]

D.

The first rebellion against Mahavir Swami

was led by Jamali, who was his favorite

disciple and son-in-law. Upali was the chief
disciple of Gautam Buddha who composed

Vinaya Pitaka.

* The epistemological theory of Jain
philosophy is called Syadvad and the
metaphysical theory is called Anekantvad.

* Jain philosophy:- The soul who has attained
salvation rests on the Siddhashila and
attains the Anant Chatushtaya. (Anant
Gyan, Anant Darshan, Anant Virya
(Force), Anant Anand)

* Pratitya Samutpada is the theory of
causation/causation of Buddhism. It is also
called Dwadash Nidan Chakra. In this, the
cause of sorrows is said to be ignorance/
avidya/craving.

Consider the following statements on

Rigvedic period-

A. The word agriculture is mentioned 24 times
in Rigveda.

B. The caste system is described in the 10th
mandal of Rigveda.

Select the correct statement/statements from the

above and give the correct answer using the code-

Code:-

[1] Only A [2] Only B

[3] Neither A nor B [4] Both A and B

[5] Question not attempted

[1]

Rigveda period - 1500-1000 BC.

The word agriculture occurs 24 times in the

Rigveda.
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TR - W R TgdeR % Hueen|
R WS wefud -
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4, MR e (SEgd)

wE 329 & Mg H TG = E

T I - SeaEH,
TH IR0 TERE -~ YiRd
& TR . PEIEIR]

faso R | & dedd ¥ frafataa waet w6t

forerer -

A. o] FHigar = famg, st de, FURed
w1 @ fagm e

B. sfemm anft feieh #i=1 o 19 amn gaiq o
Tl & Sy 9 T8l B Fui R @

U HIT Rl FIT HifoTC-

[1] A ¥&, B e [2] B W&l, A o

[3]A3 B @&l [4] AT BIA e
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Sol.

There is no mention of caste system anywhere

in Rigveda. Mention of all four varnas is found

in the Purusha Sukta of Rigveda.

Shankaracharya, the great saint of the eighth

century and proponent of Adwaitvada

philosophy, founded which of the following

sects?

[1] Rudra Sect

[2] Ek Sharan Sect

[3] Smriti Sect

[4] Brahma Sect

[5] Question not attempted

[3]

Shankaracharya: -

Birth - Kaladi Village (Kerala), 8th century

Sect - Smriti Sect. Founder of Adwatvada.

Established four peeths -

1. Jyotish Peeth (Badrinath)

2. Shrangeri Peeth (Mysore)

3. Sharda Peeth (Dwarika)

4. Govardhan Peeth (Jagannathpuri)

Died at the age of only 32.

Rudra sect - Vallabhacharya,

Ek Sharan sect - Shankardev

Brahmo Sampradaya - Madhvacharya

Discuss the following statements in the

context of Vijayanagara Empire:

A. The father of Telugu poetry, Allasin

Pedanna, was the court scholar of

Krishnadevaraya.

B. Italian traveler Niccolo Conti has described
the dams and canals here in his travelogue.

Select the correct statement-

1] A correct, B incorrect

2] B correct, A incorrect

3] Both A and B are correct

4] A and B both incorrect

[5] Question not attempted

[3]

Vijayanagara Empire:- Established in 1336 AD

by two brothers named Harihar and Bukka.

The father of Telugu poetry was Allasin

Pedanna, who composed Svarochita Sambhav

(Manucharit) was in the court of Tuluva

dynasty ruler Krishnadevaraya,

—_—— —

Italian traveler Niccolo Conti came to India
during the time of Devaraya I (Sangam
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dynasty), who has described dams and canals.
Devaraya I built a dam on the Tungabhadra
river and laid out canals for irrigation.
Which pair is mismatched with respect to the
Ashtapradhana of Chhatrapati Shivaji?

[1] Sumant - Head of Religious Affairs

Department

[2] Shurunavis - Head of Correspondence
Department

[3] Vakyanavis - Head of Intelligence
Department

[4] Sir-i-Naubat - Head of Military Department
[5] Question not attempted

[1]

Chhatrapati Shivaji's cabinet was called
Ashtapradhan, who worked like secretaries.
1. Peshwa - Prime Minister,

2. Amatya/Majumadar - Head of Finance

Department

3. Sir-i-Naubat - Chief of the Military
Department

4. Vakia Navis - Head of the Intelligence
Department

5. Sharunnavis/Chitnis - Head of
Correspondence Department

6. Sumant - Head of Foreign Affairs

7. Pandit Rao - Religious Department Head

8. Nyayadhish

With reference to Mughal painting: -

A. During the reign of Akbar, the Portuguese
priests started the practice of European
painting.

B. The forward summation method in
paintings started during the time of
Jahangir.

C. The painter Mansoor was an expert in
depicting animals and birds, who painted
a picture of the Siberian Crane.

Choose the correct statement/statements from

the above statements-

[1] Only A and B [2] B and C only

[3] All of the above [4] Only A and C

[5] Question not attempted

[4]

Mughal painting: -

Mention of painter Bihzad in Baburnama

During the reign of Akbar, the Portuguese

priests started the practice of European painting.

Forward Summation Method: - depiction of

people and objects near and far in a single

perspective. This method was started at the
time of Akbar. Jahangir's court scholar Ustad
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Mansoor was an expert in the depiction of

animals and birds, who painted "Bengal

Flower" and "Siberian Crane".

Which suggestion were not given by the

Radhakrishnan Commission for the

development of education in India:-

[1] Graduation is not necessary for the
administrative services exam.

[2] Higher education should be a subject of
the concurrent list.

[3] There should be free and compulsory
education system for the children of 6 to
11 years.

[4] Compulsory 180 days of study in each
academic session.

[5] Question not attempted

[3]

Radhakrishnan Commission - 1948-49 AD.

After independence, the Government of India

appointed a commission in 1948 under the

chairmanship of Dr. Sarvepalli Radhakrishnan

to report on university education. It is also

called University Commission.

Recommendations:-

1. 12 years of pre-university study.

2. 180 days of study is mandatory in every
academic session.

3. Higher education should be a subject of the
concurrent list.

4. Graduation degree is not necessary for
administrative services examination.

On the basis of the recommendations of this

commission, the University Grants

Commission (UGC) was established in 1953.

To avoid the Vernacular Press Act,

publication of Amrit Bazaar magazine was

started in English language. In which

language was it published earlier?

[1] Marathi [2] Bengali

[3] Hindi [4] Telugu

[5] Question not attempted

[2]

Amrit Bazaar magazine published in Bengali

language by Motilal Ghosh and Shishir Kumar

Ghosh started publishing it in English language

to save it from the Vernacular Press Act 1878.

Consider the following revolutionary events-

A. Surya Sen, a teacher from West Bengal,
founded the “Vidrohi Sangh”.

B. Kalpana Dutt was martyred while raiding
the railway factory in Chittagong.

C. In Odisha, Suniti Choudhary and Shanti
Ghosh opened fire on the collector.

Select the correct statement/statements-
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Sol.

135.

Sol.

136.

Sol.
137.

A EE, dead 9 Ued TS U] 9
U weAl 1 faaeT wifsg qer wEdt wg @
A HIfSTC-

[1] A @&, B o
[3] A9 B3A W&l
{S}Wﬁaw—r
1

SR & 1% AR SR W WAl 1 ST i
I ST ol 39 TEE % GHIYH 2 9RA WK
T T 1948 § ¥R ST Y TGA Hi| TH A A
TR STYR TR T3 TS i T i SRR
fEam 1948 # & € TN w1 STRIAS &t el &
fore Sttt wfafd w1 e fea mm s off 39
Tl FHRI| 3HH ASH-SARR A6l 168w, Tty
TE Toel Te uAf AR )
- eaeh i WA U fehart gl 27

[2] AT BT ol
[4] A Tord, B ®&t

[1] 50 - 60 fert. [2] 100 - 150 T,
[3] 200 - 250 fpet.  [4] SR H @ HE Tl
[5] oTgaRa w

[1]
TRG- AT gee dEe 0 STRfEfeR Wi
TIgsh! o I i T0E &mar 50 - 60 TRl Bl 2

Freafafaa w1 qafea wifs-
qehATehT HAT
A. T faa (i) o= s aun ¥ faga
Hehd I STORT Il
21
B. ZrgHIX (ii) ¥E T & T 9
GO W A R
C. fd= (iti) 7€ T & T 9
o TR e
D. fenfgaiex (iv) & F= e gwo
fepan ST 2
A B C D A B C D
(1] Giv) (i) (i) () [2](v) (@) (5 (i)
[B](iv) (i) (i) (i) [4] (1) (iv) (i) (ii)
[5] ergafd W

[1]

gaa SUTE YU A (PSLV) & et ¥ 136.

frafafaa wat w faem wifs-

A. 6T STEN 1994 ¥ R W1 @1 R

B. eI fesme faeaaqm safted fashd amem
siaRer &= ® fwan m

C. ¥ ®U i g2 1 ST fFa S 2

e W ¥ e AT i fafed &t Sted 3T

Sol.

134.

Sol.

135.

Sol.

[1] Only A and B [2] Only B and C

[3] All of the above [4] Only A and C

[5] Question not attempted

[4]

Surya Sen, a teacher from Chittagong (West

Bengal), founded the Vidrohi Sangh and the

Indian Republican Army.

Pritilata Wadekar was martyred while raiding

the railway factory at Pahartali (Chittagong)

and Kalpana Dutt was arrested along with

Surya Sen. Suniti Chowdhary and Shanti Ghosh

opened fire on Comilla's collector in Odisha.

A. The Dhar Commission constituted in 1948
had rejected the demand for
reorganization of states on linguistic basis.

B. The J.V.P. Committee was formed in 1948 to
review the recommendations of the Dhar
Commission. Whose members were Jawaharlal
Nehru, Vallabhbhai Patel and Panikkar.

Discuss the above statements and select the

correct code-

[1] A correct, B incorrect

[2] A and B both incorrect

[3] Both A are B correct

[4] A incorrect, B correct

[5] Question not attempted

[1]

After independence, the demand for

reorganization of states on linguistic basis

started increasing. To solve this problem, the

Government of India established the Dhar

Commission in the year 1948. This commission

rejected the demands of state reorganization

on linguistic basis. In 1948 itself, the G.V.P.

Committee was constituted to review the

recommendations of the Dhar Commission.

He also rejected this demand. Its members

were Jawaharlal Nehru, Vallabh Bhai Patel and

Pattabhi Sitaramaiah.

What is the range of Wi-Max network?

[1] 50 - 60 km [2] 100 - 150 km

[3] 200 - 250 km [4] None of the above

[5] Question not attempted

[1]

Wireless-maximum World Wide Interoperability

for micro web access range is 50 - 60 km.

Match the following-

Technical

Input Signal

Statement

(i) It separates the
electrical signal from
the carrier waves.

A.

B. Transmeter (ii) It receives information
through antenna.

C. Receiver (iii) It transmits information
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3- through antenna.

[1] $9a A [2] S5 B D. Demodulator (iv) The information that is
. . to be transmitted.
[3] ae C [4] &9 & i T A B C D A B C D
cop, T @ [11Gv) Gif) (i) @) [21Gv) (@) () (i)
ol. [4]

o e ‘ [3]Gv) (i) (i) (i) [4] (i) (iv) (i) (ii)
a8 %"-{ . e @1 e 1;94‘1:[ i afﬁ—q [5]Question not attempted
=0 H S Tohe TN gt o =gl w0 H WA ThE g1, 1]

5 1 WA el 21 e WO [ §2H & IW 137. With reference to the Polar Satellite Launch

foFr ST R Vehicle (PSLV), consider the following
138. Frfefaa weaml & wgd § fa=m wifa- j:af?mef:s' . 1004
qrd T T, 2eg . It is being used since Y
g‘ 55;3 . ’ B. Its designing was done at Vikram Sarabhai
LT S ) Space Center located in
C. IR a0 Aifeehl HEIH, Sas Thiruvananthapuram.
Suded HEIFl U hE 3EU ¥ Hefid §- C. In these, strap on bursts are used.
[1] 35t AT B [2] %5 Ba C Me;rk thetllrllcorrect statiment from the above
F ; and give the appropriate answer-
3] AdC [4] e [1] A only [2] B only
[5] =7 = [3] C only [4] None of these
Sol. [1] ) [5] Question not attempted
TR TN SifiR T, SgE - 98 BEE 9 Sol. [4]
TEE faam & o wWEE TR 2 It is a four stage launch rocket. In which solid
139. AR TATE, AR B eiw § Frefeiad weEi rockefts are used in thg firs.t and third stages
w f — and liquid rocket engines in the second and

o fourth stages. In these strap on bursts are used.
A. ¥ USiee 75 % qed ffHa 931 Td ifad Tigs 138, Consider in the context of the following

2l institutions-
B. 7% TH TIoe onHd TEs B A. Indi.an Institute of Renpte Sensing, Dehradun
S S S B. National Remote Sensing Centre, Hyderabad
C. T FHm wer € 3 i C. Indian Institute of Astrophysics, Bengaluru
fon 21 Which of the above institutes is related to ISRO?
's’q?iilﬁ U ¥ fwa wmaw et & [1] A and B only [2] Band C only
[1] Faa A [2] o B [3] A and C only [4] All of the above
[3] A BT C [4] T ¥ =+ T [5] Question not attempted
Sol. [1]
[5] STIART 7 Indian Institute of Astrophysics, Bengaluru -
Sol. [3] It is an autonomous institute under the
T 75 Department of Science and Technology.
T F R 6 ho e T P 139. f;gsi,der th.e following statements regarding
-Vagshir-
sl A. This is the sixth and last submarine built
Fmfurerat - weria <% fmfacsd fafee under Project 75.
wgfeEat B. This is a diesel based submarine.
6 . C. It has been constructed by Mazagon Dock
© STETALTE. Tl © IETITE TS Shipbuilders Limited.
o SRTATH S o SR.TUATHE. dFR How many of the above statements are correct:
o FETATE Hoell o SMETLTH it [1] A only [2] B only

140. Frafafiga § @ frme ey salies dotem [3] A,Band C [4] None of these
Wt @ &2 [5] Question not attemped
) Sol. [3]
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Sol.

141.

Sol.

142,

Sol.

A. CRISPR - Cas9
B. & fR =gfS (ZFNs)
C. IR TRRE =Fis (SDN)

Iuded § ¥ W wA -

[1] %ot A 3R B [2] Fo A 3R C
[3] et B @R C [4] Svda @t
[5] eTgaf we

[4]

Site-Directed Nuclease (SDAL) 3/ ghH fafdre
IS | A STed! S GRA Sl g &
ot DNA dgeil =i fgafed & =t ggfa 9 21
fafi=-SDN wrenfirent

N fFR =gafls, CRISPR a7f|
CRISPR-Cas9

TE Th HeEl B ®Y H HE W@l €, W DNA &
fefea el ol HEH g2 | HeR L 2
HI-TEATE M4 EER TuTredt T Heier feRa 29T
e

[1] ¥R T ST [2] TSRt

[3] =fteq [4] &

[5] STaRa WA

[3]

HIe AR M4

e e #1 eER qorel 81 B & o w@ied |
HYon St ® fF o® A9 TH WS Wi TR WA
o ot sam

Te guell fafe= ¥R & Tien-ses i JrH A
ey R

ORd Yol i 39 YoTelt % =i MK2 der MK3
HER ol STEN T @ R
frafafaa w famsm =X -

A. &S S B. S S

C. 9% 3g™ D. dfox 39ad

E. QMRIgs U GEE el

STIRE § W ShA-A1/A @W-TqH J@q0r § it
&2

[1] ®e A, B, D 3R E [2] %o« A, B 3R C
[3] ®eet D 3R E [4] SWrp |t

[5] eTgaf we

[3]

TG HEIT

140.

Sol.

141.

Sol.

142.

Project 75

To build 6 diesel based submarines within
India.

Constructor - Mazgaon Dock Shipbuilders
Limited

6 submarines:

* IN.S. Vela .
* ILN.S. Karanj * LN.S.Vagir

* LN.S.Kalvari * LN.S.Vagsheer
Which of the following is related to genetic
modification technology?

A. CRISPR - Cas9

B. Zinc Finger Nucleases (ZFNs)

C. Site directed nuclease (SDN)

The correct statement from the above is-

[1] A and B only [2] A and C only

[3] B and C only [4] All of the above
[5] Question not attemped

[4]

Site-Directed Nuclease (SDAL) sequence
specific nuclease refers to a method of cleaved
DNA strands to effect subsequent genome
editing.

Various SDN Technology

Zinc Finger Nucleases CRISPR etc.
CRISPR-Cas9

It acts as a scissor, which helps in cutting out
the unwanted part of the DNA.

Carl-Gustaf M4 weapon system belongs to

I.N.S. Khanderi

which country?

[1] United States of America [2] Israel
[3] Sweden

[5] Question not attamped
[3]

Carl Gustaf M4

This is Sweden's weapon system. Recently
Sweden has announced that they will develop
this system in India also.

The system is capable of firing a variety of
ammunition.

India is already using the MK2 and MK3
versions under this system.

[4] Norway

Consider the following -

A. Seed bank B. Gene bank

C. Tree Garden D. Sacred Graves

E. Community & Conservation reserves.
Which of the above is/are included in In-situ
Conservation

[1] A, B, Dand Eonly [2] A, Band Conly

[3] D and E only [4] All of the above
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143.

[1](v) (if) (i) (i)
[3](iv) (iif) (if) (v)

A. U™ 3TM
B. a9 SfoM 31=Rwy
C. ORI Te weE e

D. 9l Gifea e

E. oo 39ad

F. glewie
Frefafaa & fem wifs

W HRH Tl

A. Tfasfeataq (i) STaEmERd
B. @l 3SR (i) SFeH AAE
C. foa (iii) ofrerdfn
D. Tifeat (iv) geRfE
E. 27 (v) TRERRE
A B CD E A B C DE

[5]eT3aRd 9o

Sol.

144.

Sol.

[3]

/[ YR TS
tfawfeafaa - wEefEn / geifen
HTAT TR - ofterfEn

L 2 ) 1 | R s i | R
qifere - T arR"

Eu Sirc e Rt

W(W@Hwﬁmﬁw)aﬁrmﬁ(m

wEfeem 1) & an # Fefafgs w9t ™

faem =

A. Giestt & Wefieh seeh 9o 3R oA B, Sk
TS T Wl S WA R

B. CNG 2mUershd " wel H sy &l o
I H 2, S@fh LPG STueshd &gl "
¥ Tk W FRE T CO, 1 SERT H 2

A HIT I TATT hITST

[1] o A [2] ®aa B

[3] A 3R B T [4] 39 @ +E ot &
[5] gt w

1]

-
TR WA TR WA & dhfeqd S B ®9
o ol | e R

THH Wfeh Tk HOA B

T U ®Y 9 FHH Ra T T 1 SR e

[5] Question not attemped

Sol. [3]
In- Situ Conservation
A. National Park
B. Wild life sanctuaries
C. Community and Conservation reserves
D. Marine Protected Areas
E. Sacred Groves
F. Hotspots
143. Match the following :
Disease Caussing agent
A. Elephantiasis (i) Arbovirus
B. Kala Azar (ii) Alpha virus
C. Chicken Guinea (iii) Leishmania
D. Polio (iv) Wuchereria
E. Dengue (v) Enterovirus
A B C D E A B C D E
[1](iv) (i) (iii) (1) (v)  [2] (i) (v) (1) 1) (V)
[B1v) i) (i) (v) () [4] Gv) (i) i) (v) )
[5]Question not attemped
Sol. [3]
Disease Cousing Agent
Elephantiasis - Filaria/Wuchereria
Kala Azar - Leishmania
Chiken Guinea -  Alpha Virus
Polio - Entero Virus
Dengue - Arbo Virus
144. Consider the following statement about

Sol.

CNG (compressed Natural Gas) and LPG

(Liquid Petroleum Gas)

A. The Primary component in CNG is propane
and butane, while primary component of
LPG is methane.

B. CNG produces relatively lower quantities
of greenhouse gases, while LPG produces
relatively large amounts of CO,, a green

house gas.
Choose the incorrect statement
[1] Only A [2] Only B

[3] Both A and B [4] None of these

[5] Question not attemped

[1]

CNG-

Its primary use is in vehicles as an alternative
source of fuel.

Its primary component is methane.

It produces relatively few greenhouse gases.
(compared to LPG)

LPG-

It is used in cooking and heating. LPG is also
used in industry and agriculture.

Its primary components are propane and

Bl (Terdistt i qer ®)
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145.

Sol.
146.

Sol.

147.

Sol.

148.

TSt

THRI SHEN @ T H H IR T e | B @l
TS 1 ITEN SE T R § of g 2
THH Wl HE Wi SR o R

Tg STUERG CO, 1 3 Ieaed et €1 S fom
T BRa 7E T Rl

frafafigas § ¥ srEeroia afitadT & 8-
A frf B aH w a § T

B. @9 I Wl

C. 39 & T § 3 HA

D. 3N ¥ I T

E. 9% &l 5@ ¥ e

[1] %@ A, B, D [b]®aa C, D
[c] @@ B, D [d]®aa C, E
[5] srgafa s

[4]

et & e S awg W g, Toem efr wifa =
e & fou g feaa grr fem o @
IuET fR ST 872

[1] @it qa [2] guEits o
[3] regr@ifer @@l [4] eEuEitER @l
[5] sTgaRa W

[3]

AR e ol 1 ST S 2

20 Khz ¥ siftss &t aTgfd &l s = &
AT HRE FEd Bl

aa: fawea 3 W& B

HIN1 a"RE § her arem I 8-

[1]¥7 [2] -

[3] w@mE-T], [4] ferhefa

[5] eTgaRa W

[3]

butane.
It produces relatively more CO2. Which is a
green planet gas.

. Which of the following is not a irreversible

change?

A. Baking of pottery in a furnace

B. Ripening of mango

C. Heating and cooling of milk

D. Making flour from grains

E. Dissolving salt in water

[1] A, B, D only [2] C, D only

[c] B and D only [d] C and E only

[5] Question not attemped

[4]

Which waves is used by SONAR device to
measure the distance, direction and speed of
underwater object?

[1] Subsonic waves [2] Supersonic waves
[3] Ultrasonic waves [4] Hypessonic waves

[5] Question not attemped

. [3]

SONAR uses ultrasonic waves.

Frequencies higher than 20 Khz are called
ultrasonic sound or ultrasound.

So option 3 is correct.

. Which disease is caused by HIN1 virus is-

[1] Dengue [2] Bird flu
[3] Swine flu [4] Chikungunya
[5] Question not attemped

. [3]

H1IN1 - Swine flu is a highly contagious
respiratory disease in Pigs caused by one of
several swine influenza-A viruses.
Transmission of swine influenza viruses to
human via contact with infected Pigs or
environments contaninated with swine
influenza viruses.

Symptoms are cough, fever, soar throat, stuffy
or runny nose, headache, body ache etc.

So option 3 is correct.

H5N1-Bird flu

HIN1 - W5 ] Gl  Th STF WFF 148 Which of the following causes kidney stones -

YIEA I R S 3R TR SHUST-A aPRE | |
T & HRO B 2

W@ed uS T, 3t geril o1 TeieRy ¥ |ush
% e 9 Aed ¥ H=la g R

TiEl, @R, T § B, 98 g A Fed A,
fod, TR & <2 ok TEa e €

aa: fawew 3 W@t R

H5N1- &€ &

gak | TRl B o Rl U i § wimferd -
A. I v B. hfcaem sfiFdee

A. Uric acid B. Calcium oxalate
C. Calcium Phosphate

[1] B, C only [2] A, C only

[3] 1 Only [4] All of the above

[5] Question not attemped

.[4]

Kidney Stone :

Approximately 80% of kidney stones are
composed of calcium oxalate (CaOx) mixed
with calcium phosphate (Cap). Other Uric acid,
struvite and cystine. So option 4 is correct.
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Sol.

149.

Sol.

150.

Sol.

C. Hfewrm me

[1] % B, C [2] %@ A, C
[3] %o A [4] 3T @t
[5] gt

[4]

Iﬁ RO

T 80% TE I U Hfcwram wiEhe (Cap) ®
w1 iy Siesem sifeie (CaOx) @ & Bt 21
I e e, gare IR e am: forered 4
wE B

T A AAT W TG & AT I AT HIOT 7

[1] TE@mRYT 9 [2] =T =@
[3] @E 5 [4] STt &
[5] s1gafa T

[4]

HIRLA 1 qoieh g T8I § HFEd Wl ST

R ST B

« T TH Hioee © e uifaw wewen sd
(iglq &) qon uRerur W o (Sl
oE) Bl €, TH YHR H hlemEed oo
Sl FEd B

o UIRFRH UH THIYM, Hioee @ Hoed 9
w1l & gy &1 fafy 2

frfafea & ¥ gemm den @ stoa ®a A

gfea ot -

[1] 9= IR =2 1 el W& &1 am

[2] Seiagl IR g2 i el HE& H1 A

[3] sereRfAl @it Wl Y e HEewn w0 A

[4] 9IS, =I2AT G SeteReil Sl Hel WEAT HT AN

=3

THM W& S Bl

149.

Sol.

The reason for the separation of butter from

churning the curd is?

[1] Gravitational force [2] Frictional force

[3] Viscous force [4] Centrifugal force

[5] Question not attemped

[4]

Butter from curd is seperated by the technique

of centrifugation.

* Curd is a colloid in which the dispersed
phase is liquid (i. e. water) and dispersion
medium is solid (i.e. fat), This type of
colloidel solution is called gel.

* Centrifugation is the method of sepration
of substance from a solution, colloid or
suspension.

150. Which of the following correctly represents

Sol.

the mass number-

[1] The sum of the total number of protons and
neutrons

[2] The sum of the total number of electrons and
neutrons

[3] The sum of the total number of electrons and
protons

[4] The sum of the total number of protons,
neutrons and electrons

[5] Question not attemped

[1]

The number of protons and neutrons combine

to give us the mass number of an atom.
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Complete Paper [Code-903] 10 Sep. 2023
2 [ 3 [ 4]5 67 [8ToJw[nunln]i3]14]i1s
3 2 2[4 [ 3 [ 23 [ 3 [ 2 [*]3[4a]1][3]1
16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 [ 24 | 25 | 26 | 27 | 28 | 29 | 30
> | 1 [ 4 | 3 [ 4 [ 43 [ * [ 4] 3] 2] a3 |3 ]=

31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

1 2 4 2 3 4 2 4 2 2 3 4 1 2 3

46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

3 2 1 4 3 4 4 2 4 4 * 4 2 2 1

61 62 63 64 65 66 67 68 69 70 71 72 73 74 75

1 4 2 3 3 3 4 4 3 1 3 1 1 4 2
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
4 3 3 3 2 3 2 3 2 2 4 3 2 1 1

91 92 93 94 95 96 97 98 99 | 100 | 101 | 102 | 103 | 104 | 105

2 2 4 2 2 2 1 3 2 4 * 3 2 4 4

106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

1 2 2 4 3 3 2 4 4 3 1 1 3 3 1
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135
2 1 4 3 2 ] 3 3 1 4 3 2 4 1 1
136 | 137 | 138 | 139 | 140 | 141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150
1 4 1 3 4 3 3 3 1 4 3 3 4 4 1
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